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A’ TIPOBAHMATA
THZ AINAHZ MESOAOCY TQN TPIQN

AY) AIIO MNHMHE g
E@ore tac

1.—4 dn, mavdreg GECovy 20 dpay. Hdcov Y& ddow o) o 8 dx.
) duk 12 om., v) dua 16 dx%. ;

2—3 I[Iiy. toviéhag tipdvior 36 doay. [Mécov wudvron: o) 6
Ty, 8) 9 ., v) 12 iy ;

3—10 ox. un?\a aEiCouv 250 8@0:4, Ildco GE tﬁuuv a) 20 ax., B)
30 ox., y) 40 an. ;

‘Ouag 13’.

1—30 éx. memdvia GEitovv 120 dooy. I1dco GElCovv: o) 15 éx.,
B) 10 éx., ¥) 5 ox, ;

2.—Eig 8oydmng o0 2oyaciav rouv 20 fueodv mAnowverar 1200
doy. Ilécov Ha n?mgm&ﬁ 30 Boyaoiav: a) 10 fuspdv, B) 5 fueody :

3.—Mz 18 doy. &iz padning nye@ace 36 ﬁoloug IIécov dEitovy :
@) ol 18 Bokot, B) of 6 Bdhol ;

‘Opag vy,

1.—7 Zpydrau tehewdvouy Ev Epyov eic 24 fuépoc.
o) Eig wdoac fiutoag Bé tehewddcovy avrd 14 Bpydror;
B » S » s »
N » S » » 28 »

2.—20 uviorae xriCovv piav oixiav tis 36 fudoos.

a) Eig méoog da tyyv xticouy 40 xriotou :

SIS » 60 »

L T e S S 2 3 () »

3.—"Bvog ue td yofuote moy ExeL meovd 60 mugoag, v EEe-
Jevy 25 dooaywmag thy fuéoov. Ildcae B¢ meodon :

a) &nv 2Eodelpn 50 doy. v fuéoav ;

B) » sy e ey »

v) > ATy =y »



‘Opag &',
1.—30 Epydror oxdmtovy Eva yavddxl sig 24 fuépag.
a) Eic ndcag fuéoug o 10 oxdpovy 15 Epydron;
gy » » » i ) » 10 »
¥y > » D L » B
2.—800 grooTLdTol ELOUV TEOMUS S1¢ 80 fufoac.
@) 400 otpat. ni tag i8lag Toowie mioac fiuépag Ya megdaouy ;

B) 200 DR S » » » >

y) 100 LTy s RS >’ » » » >
B’) TPAIITQX
‘Opdg o',

1.—5 miyeg &vog VP AcHOToS TpGyTaL 20 Spoypdc. Hocov TL-
povior 10 afixeg 25 avtod;

Adoig
KordzaEic vob moofAriparos.

5 miygelc tipdvrar 80 dpy.
10 X
ZUyHOLGLE TMY TOCMHY-
(@5) '?I:Y’]‘g_fl.g tpdvear 80 doy.
@0 > » 160 » “Apo v mood Bival
svdéwe dvdioya.
Eioeoic tol dyvdicrov X. X
Awd vé stipw tov dyvootov X. molharkooidfo 10V DmEQGVH af;mm';

=

. - \ S ’ DR ’
yeyooupévov Gowduov 80 Emi 10 xhdopa 0 GAVEGTOOLUEVOY,

1
fito X=80% E—SO?O _@_160 ey

(1) ZHM. Aw vi émwalndedoovy whv Adow of podnsol Advouy w0 mEé-
Bimpae Sue Tiig Gvaywyijs eig TNV movdda :
fitoL oi 5 mhyec tiud@vror 80 doy.

£ 80

a-d > = '—5- >

80 8010 800
zut ol 10 » » ?Xl()_. >5< = —160 douy,.
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2.—Mz¢ 369.60 dox. Gyoodtm 22 miyeic xoof. ME mdoog dooxuds

J¢ dyopdom HO mijyels €€ avtol ; (CAn. 840).
3.—5H on. Euluvﬂguxmv oroygitouv 16.50 dgy. [Iéoov otouxilovy
30 ox. altdv ; ("Asmx. 99).
4.—4 novPuplotpsg Eouv 36,60 dpoy. Hocov gyovv 14 xou-
Paoiorpeg; ‘ (CAm. 128,10).
5. —Ta g g dndc tupod Tipdvrar 25.60 dooyude. Ildcov )
Dcbhowwey dia T ox. ; (CAxm. 286,72).

6.—Auwyx vo Gyoodow H uétpw £ Evog Dpdonaros SmAfowoa 1200
dooyuds. Méoov da alnodow a) dia 10,50 péveo &€ avtot; B) dia

15 - uérou; | (An. 9520—3.720)

T.—Mua odBdog wiroug 1 80 péroa ofmter oxwav 0,90 pévgou.
IMésov elver to TWoe voe dévdoov, o or:mov XTIV aUINV Hoov

pimrer owwav 8,70 perpa; - (CAn. 17.40).
8. — Mz 100 dx. &hevpov xduvopey 130 on. Wopi. IIécov popl
Ho ndpopsy pg 390 dx. dhedpov ; (EAm 50T
9,—130 ox. Yopl yivoviar aro 130 dx. dhsvpov. Ano mbcog
dxaduc Ghevoov Y& yivouv 650 ox, Yol - ("Am, 500
10.—10 miiysig vpdoputos xoosiCovy 2500 dpay. IIisov #oovi-
LI, 1 5 & th
Couv of 25 miyels xal 6 povmia (CAm. 6437 o
11 .—Auwx 360 doduia Tdyaom Edwxa 42,70 dpay. [Ldoov xooti-
SR R A il ;
Cowv: a) Ty Oxd; B) ta 5 Tfis s ; y) of 25 dx. xoi 150 Bodpie ;

(*Am. 48,80), CA=. 30,50), (‘An. 1238,30).
12.— 3 dx. 250 dpduwin oivou xootiCovy 43 Sooy. xai 50 Aewtd.
Ilécov xootiCovv B orotfipss 30 dx. wal 300 dodwo & ol Ldiov
oivou ; (CAz. 3009).
Qi |
13.—M: 2 Aipec xal 8 oehivio GyopdCouey 2? mRELS GmO  Evo
foaona. Iécovs miyss 9 dyoodlape én’ w0 (S0 Vpacuo ue 16 Alpeg
2 2 2
nul 8 mévves ; CAm. Ib? ).

: 14.—"Av t& 10 SoMdoinr iooduvaumotv ué 55 dpuy. ué mécug
Souy. iooduvapodv te 150 doMkdera; ("Aw. 825).

&
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15.—3¢ 4 dhosc nal 307 hemre diver wig amyn 10 oratiovs xai
92 dm. vepo. Ilocoy diver 1o fuspoviytio ; (CAn. 56 crot).

‘Opég p. (M)

1.—10 dx. Tvool mpudvrour 380 dpay. IIdcov Tipdvial D Gxddes
attob ; (6. 190).

9.—8 dxddeg mordres dEifovv 40 dpayude. I[ldcov wootilovy s

o,

o) 4 dx. & o &v;B)?%éu.;y)lﬁx&;ﬁ)% on. ;

cpatog. Ildoove mijxete da Dpdvy gig 4 Huépos; =
=

“4-* og goyov gig T

2ithy
3.—Eic 14 Auéouc dpaiver pie tpdviowa 56 miyec EE &vo
(
- 25 ) 5 1
4. —"Evac goydine tehetdvel ta
» ’ ~ D \ 7 -] c 7 3 1
Tl péoog rot Epyov V4 teheimoy el 2 Ruéoag ; (an:.?}.

2
5. —0 mflyvg Evog petatmtod VQHopaTos EyEL 120? Soayues.

[y

[Técov Egovy ta D povmia ; (Gm. TH— i )
6.— Enxhipwoa die 50 6x. Cdyaeon 1030 dpayunds. I[ldsuc Ha
, ; A Lo 5 casl
dchom dia 27 dnddag Cdyoon {am. 556 f).
7.—Mzs 10 dpoy. dyoodfm 40 Boloug IIdcove & dyopdom ue 7
doaynds ; (am. 28).
8.— Axd 100 dx. sroguhdy moaodyovrar 55 dx. poiloros. Ildoog
B mopaydq dmo 60 dx. araguidv ; (Gm. 33).

= ) —~ > L 1 A ’ A
9.— Awg 18 dx. camoivi EéxMpwoa 373+2— doayude. [Mécov Ja
; 2l
whnodom did 10 dxddac adrod; (G. 20(_—)}.

Ie el . e A
10.—Auwx 7? dn. pul EnMjomoa 141 dpay. Idoov Bd mhnodow

(1) ZHEM, ‘H Hxodeiypatind Micws tot louv meofh. zul 7 zatddeailic eig
tole nabntde tov diatl, yivetor elxola G¢ elc Thy GvoTéom o Ouada.

&




DL 3% oxddac atrod ; (Gm. 61,1).

11.—10 &%, nike dEtowy 120 dpaypds. [Tdoo GECovy

=

1Lk 3 o [l 4 -y . > o r<1 7
a) - o B‘) - o v) 5 on d) 4? oM (639, £—2—,5.,6).

g A R T s 1 1 il
any. y) D =7 o (U 1—2—, IOT 64?).

Z

12.—5 . dpdopnatoc GE(Couy 60 Spayuds. [lécov akitouy:

{YJ-J(

@ 4 mie B)

@) oy
1.—10 ntiorow xtifovv €va tolyov o 14 fuéoog. Eic mboug Npe-
pog Yo tov Extilav 20 wtlotal;

Adoig L
Kazdralic vot moofAijuasos.

10 nefotor 14 fp.

20 SR

Zlyxoloic TOY TOOMY

Of 10 zuicvar xrifovv tOv Toigoe of 14 fu.

(O 0 » » ey

“Apa T mood eival dviioTtpoga

Eipeole 1ol ayvdotov X :

Awd va shpwops tov dyvwoto X molkamhacidlope 1OV DmEQUvV®

T ¥ SRl 0SS
udToT yeypaupevov doud. 14 Emi 10 xhdopa %0 Omme EYeL :

Fuoy & — 14)( ‘_,14><—=£%~7 M. (am. T).
2. — Hvag & egyatng 2oyaldusvog 8 doog Ty Huoay ontnpsv gva
wnmov sic 9 fuéoag. [1doog dous v Huéoay Exgene va Epydinvut dud
vl Eoxamte tOV xfmov sic 12 fuéeac ; (&m. 6).
3.—Mzt 1a yonuorw mov Eyw, 2av EEodsvo v Auépay B4 dpayuds,
meovd 14 fpfoes. Ildong Soaymdc moémel va 8Eodelm v fuéoay, &av
Bk va mepdom pE T Ve yorjpate 27 fuiouc ; (Gr. 28).

- ; ; e o ,
4. —Eig vayvdoopos BadiCov 5—;)_ @pog TNV NUEpGV  dLaTOEYEL
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N
piav Gréotacwy eic 21 fueoug. Big méoag fiuéous Ho Oureetn vaduny,

EEAY ’ 1 o A c / 3
Zav [adily 10? OO TNV TUEQAY ; (Giome Ly

5.—18 3oydrur tehetcivovy Ev Epyov pyeldpevol 8 dpug Ty TlE-
pay. ool 2pydrot da Ewrehécovy to adro Eoyov eig Tag 1dlag fiuépag
Eovolouevor 9 Gpag tv Nuéoov ; (Gm. 16).

.6.—60 &vdpwmor Egovy tpopdg due 4 prvas xoi 10 fuéoae. 116-
cot GvBpwmor D& mepdoouv ué tdc odras Toowig D ufvag xal 6
finéoas ; (crm. 50)

7.—8 foydrol andmrovy Eva dypov sis 4 fuéons. Eic mdouc fué-
pas Ba tov oxdapouy @) 6 Boydrar; B) 1 Bpydune ; y) 12 Eoydral ;

(6. a—i— —32—2%—).

Opcg d .
1.—14 Zoydrol oxdmrovy Evo Guméhy el H Muépes. Kig méoag
fipégac Gé ondapovy avtd T Epydial ; (Gm. 10).
2.— ALy va otpmdi to0 mdtmun Evig dwpuriov Epsidotincay 45
sovidia mhdrove Exaotov 0,25 pérpov. Mdoa cavidia whdrovg Exnatov
0,15 péroov 96 yoewacdodv did v otpdow tob idlov marduarog ;

(Gm. 75)

: 3l il
3.—“Evoc fpydrng ondrre va gavddrl Eoyalouevos 8-2— Moog

v fiuéoav ob 28 fpfouc. Eic ndoug finéoas & oxdym tolto, Eav
2oydinte T Moug Ty Npéoay ; (Gm. 34)

4 —Mia tgdvroia deaivovsn Bl 9 doag thy finéoay eig 20 fué-
pac Dpoivel fva tém wavi. “Edv 9ékn vo dpdvn avto elg 18 fucoos

mloac dpag mpémer va fovdlnTol Thy Ruégav ; {Gr. 10).
= = ’ L4 a £l - 2 c i e 2
5.—4 Zpydzol tveheidvouy £y Epyov Elg B — Tuécas. I1écoL Eo-

’ \ ’ A =3 b 3 5 1 c >
ydral 80 teleidcouy t0 avTo Epyov Elg 2 5 fpéoac ; (Gr. 16).

6.—560 crouti@rot xhewapévor Evioe gpovolov Fxovy Tpopds did
35 fuépac. TAv $éhovv va Exooxéoovy aitar dux B0 fuéoes, molov




’ -~ o ~ r e A . # 2 7
1EQOS TOV GOYHOT OLTNEEGLOV TOEIEL Val Aapfdvouy ; (deme, 1—0).
71.—"Fv adtoxlynrov diavoéyer v @rdoTaoty petaEy o molewv
gle 10 dpac, toéyov ue tayimra 46 xhopéromy v @opav. Kic mboug
paz Do datoétn thy lay Grdotaowy, dv toéyn pe Taydmmra 600 xi-

; Sus 5 1
Aopérpov Ty oav ; (B T=-)

‘Opag €'
1.—Awe 10 miyeg xod b Grovmie évog V@Aomatog TANQDOVOUEY
9975 doy. IlGoov da mlnpdowmpey dig 14  mixeg xal 2 povgLa ;
(@m. 3990).

Adosig ;
Kavdrakig o', Kazdrafic 8.
10 niiy. b povim. 2975 doy. 85 godm. 2975 dpy.
14 2 X 114 X

\
Soyrotors. Orwe elg Ty Mow tiig @ duados.
Edoecig tot X Guolwg dg elg vy Mow tilg «’ 6uddog.
SHM. Koata why B’ dudrawy ddvavrar of ovppuyels va toamoiy
gl punvols.

53 ’
10 S Y. 2975 doy.

‘é L
14— X

S

9 Mt 420 doy. xal 20 Aewrd dyopdlo 20 miy xai 4 povmic
yooé. Tdooug & dyopdow pe 615 doy. (G, 30).

5

s 4 D -’ f 2] 5 ’ D= fEm
3.—b0 dpduwie wofatog &kiCovv B i doayuwdg. [Tooov &ECovy
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2 ox, 150 dgduia ; (G, 109%).

4. —"Ev atrodvntov ué sayiinra 40 pidwopétony xoi 600 wétonv
diévoete plav dndotacwy elg 4 Goug xul 30°. Eig ndoac Houc §& v
dloTpeEn v dhho, mov Eyer rayimro B0 yikopéromv 900 pérpmv 107, 3).

5.—Awi piov Bvdvuasiav yoewdlovrar 4——miy 28 Evoc bpdopartog,

¢

grovos whivog 2 miiyewyv xal 2 povatwy. Moot aiyes 9 yoeiacitoiy
2

duwe v odtiv Bvdupaciov &€ Evos dhlov dedopatoc Exoviog mhdrog 1
s S T : Sl -

anyuv xal 7 govmie ; (Ge. B o TY)-

6.—250 crpuridral mologripévor eig Ev goolipoy ovv T00@ag

due 1 pfva xai 10 fuéoas. Awe méouc Auéouc S0 pdoovy i roopal,

a) dv meocehthovy 150 grpoti@var ; B) dv EEéAJouy 150 croatidral :

(dr. 26—100).
f@c om
L.—"Exaolitn &v Zundceupa dvii 900 Bpaxucv pé x#éodoc

1 3 s - Sy ’ 2 s £l
1‘2—5- O/, Eml the dklag tov. Idoov fyoodedn : (am. 800).

Avouc,

Kozdralis tod mpofiijuozsos.

*Atle dayopdas 100 dpy. nodnore 112,50 Soy.
» » BT ) B » 900 »
Zhynpioig Gg 8v 1 Mioel 100 lov tiig o Guddoc.
Edgeois wot X :
900 90000 9000000

iroy B=100X 0500 aeh -
900.000  180.000  20.000  4.000
= iies . 9B .

2.—"Ev olxdnedov exohiln dvii 58.500 Spayudv us xépdog

»




: 1%

200/, #ni iz GElog viig Gyopds tov. IMofa N wipn T dyodls TOU ;

Z,

(Gz. 48.750).
8.— Endnca &va dhoyo Gvri 350000 doy. xal Exépdnoa 25 o
ITdco to siye Gyopdoel : (Ge 630.000).

4. —Eic mavrondlng éndincev gv Eumdosvpa 37275 doy

X ue Cn:
ulav 25 °f, 2nl g Gtlag tov. Ildoov Eovoiyile Tolro
Avoig.

IIdIqowc 70 Boy. ayooa 100 dpyx.

» 2D = » X >

J - 2
X—100 X 3{#75 7450 14 1

il oy
91

Ll WU R

)

5.—Ernolidn &v Euréosupa avti 915-Soy. ug Dnuiev 8 =2/,
ITdcov elyev ayooucdq ;

(Gm. 1000).
6.— Avépaca Eva onite 250.000 Soayudc »ol 10 UETEROANGE LE

#épdog 24 %y, [lécov 10 Enwdhnoa ; (Gm. 310.000)

1.,— Aydpusce ma dyehdda 600.000 dpy. xal thy psrendince weé
Cnutay 20Y/,. IIécov v Endincu (Gr. 480.000).

-



B’. [IPOBAHMATA TIOZOZTQN

THM. Té npofMipota mococtdv eivar mpofhuara  tiis

uedédov TV TOLOY.

A’. ATTIO MNHMHZX

amhiis

‘Opcg &' - :
1.—Ei¢ mapayyshoddyos maiover mocostd 10/,
o) ITdoe ¢ mdoy Emi slompdieav 300 doy ;
6;) » » » » $2 500 >
Y] » » » » » 800 »
d) 5 » » » » 1500 »
e » 25000 »

2.—Eic mapuyyehioddyog walpver 2%, mocoota.

o) éoa Sa mdoy ni elompdiewv 200 Sox.;
B e e » 500 »
) » 50 > » 1200 »
3) » » » » 24000 »
3.—IIéco eival ta mocoota moog 3/ vdv 200 doy.
» SAuTT » AL L SR (R
» S » Sl S 5
» > > > » 100;'0 e SO

SHM. Ilooc slipeowy Siaipotipey tdg slomodEeis dug 100 xal to

: 3 SRR ; o
anhinov molhamhacidCopev Enl ta  Aapfovouevo  Tolg
4.2, whi.

‘Ousg P,

2 ; . , 1
1.—Ei; pecitng maigver mpopnieiay = Ufsie

100 mocooTa

o) [Iéoa Hé wdoy &x tiig dyoods mpayudrtov 300 doy.
(ShEe S s > » R S0
RIS S o S S > > 9000 »
d) > > R e R g » 50000 »

>HM. Edgioxopey 19, nal dizipobue dud 2.

#




13

z L I 7 A A
2.—Eic necitne maigver mpounteiay T o/ . Méoa Ba hafny ;

) "Ex tiic noMosog dumopevndrov 800 doy.

B) » » » » 1600 »
b ) > > > » 24000 »
) 5 » » » 80000 »

SHM. Edoploxopsv 19, xol diaootney dia 4.
s
3. —ITéoa elval T& TOGOOTG TEOG T o/

a) *Exl mopuyshidy : 400 dooyudv :

B) > » 800 »
s » 12000 >
) > 80000

SHM. Etoionouey 3%/ xol dragoluey dia 4.
‘Opag y'.

z U by 1 . 7 o » '3
1.—ITdonv mpopidsiav moog 2 ?0/0 Ba Adfy elg neoiing, dotic

EMETURE WA CELS :
a) 200 dpuyudv ;

g) 300 »
y) 500 »
d) 20000 »

. 5= ; Dy, 5
SHM. Toémetor 6 2 5 tis whdepa —- nal ebolononsy —- DA

Mg GVOTEOW.

‘Opag 6.

1.—Iléca mocootd 9& Adfp Evac ueolsng moog 1 °fg Emi mo-
payysAtog :

@) 3000 Bouypndv ;

p) 15000 »

y) 560000 »



ZHM. AwgoBuey tag mapayyshiog S 1000 xal to myhixoy mol-
AomhaowdConev 2l o AapBoavopeva mocootd.

2. —IIdany moowideiav 8¢ mdoy el nopoyyehoddyos mods B %/
Enl maguyyshiog £y

a) 7000 Spoyudv ;

By 12000 »

v) 60000 »

ZHM. Awowootuey tag mapomyyehlag dud 1000 xal 1o wnhixov mok-
Aomkacudfopey émi 5.

3 A
3. —Iléou elvar v GopdhioTou ﬂgé;z%u Enl woo Gy Gopahicewe;

a) 8000 Sooyudv
B) 15006  »
y) 12000 »

ZHM. Eboloxopev 3%, nal Siaipoluey Sid 4.

4. —ITéon Gopdiotoa Ha AdPy pid dogohiotwny Brawpsla
ih ; 1 R
omola hopfdve 3? ®/op GogdhioTod ;

o) "Amo plav oixiov v 6molav Hopdiioey avri 6000 Spay.

B) > > > > > » » 20000 >

Ve > ey » » 57 > 40000 " 5

o : UV : e T
2HM. Toénerar 6 3? gl whdouo =5 Hotl EDOLGKOUEY o Oren

B’. TPAIITOX.
‘Qloe ol

1.—Eic wagayyehioddyog maiover 19, dnd v GElav tdv Sowy
zwhel mopoypdroy. Ildsa da ndon oiinepov mod Endiince 85.670 doy.
EUTOQEVTL ; (am. 356,70).

2.—Iléony mpoutideiav (ueoiteiov) da mdpn Evag peaitye, Gotic

. 3 ;
TALOVEL —4—0/0 moouneiay, Gv Mydoace duk hoyapLaaudv £v0g oLTEUTE-

= A : el o iy 4 1
pov 25000 dxddag oivov mpdg 7,50 dox. vy ondv; (dm. 14067).
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3.—Ildca mwooootd o mdoy Sveg EumopoimdAinhos amo 17450
dpay. elonodtes, &av malovy 10/, mocectd ; © (Gm. 1745).

4. —IT6omv Exmtwowv o xdpn &vas fumopog el epmopelduary
10600 dpoymdv, bt Exdnowdnoav duécws, 8oy xduy alEny mooc

'8% s ) (Gr. 901).

5.—ITdcov @dpov dd mhnodoy eic el 10 dnudoiov dv v nadapd
tov Emolo Ecodu elvar 140.000 Sgy.. 6 8% dnudoiog @éoos Eni Tiig

xodopds weooodou 12 ; (&m. 16300).
6.—TIIdoa Gogdhoton ¢ ninedom dux wiay oixiov GElog 375.000
: 1 1
goy. " moog . 2=, (Gm, 937-75-)-

1.—ITéoa énédioey el Bumogog, dotic fydoncey Ev Bpaoua dvrl
16500 Souyudv xal 10 uetsndAnce pé xépdog 18 O (G S 2970

8.—'Hydouca &  oluéredov $5.000 dox. ol 10 EmddAnow
ne Cnuiav 5. Ilécov Elnuaddny ; (Gm. 4250).

9.— Aydoaoev Evog wuws mpog 80 Boy. thy dXdGv xal TOV peremd-
Anoe 92,80 dpy. ®iv ondv. Iéoov tolg Exmzov Exéodiasy | (drm. 16 °f,)-

‘Opeg B, % >
1o ) e il il 5
1.—12— ox. oragpihla aGrodidovy b— dx. wpaci. IIdcov roic
2 g : o
£xatoy Grodidouv xpaoct af cvogulal altol ; (G, 44.9/).

2.— Amo 20,000 ox. cuzdol mov Nyopdonusy, rwhcausy 19.500
ax. atzdoy, 10 8¢ Yndhowmov Eywe ipa. TIon gupa Zyive Toic Snatdy -

1
x (am. 2? Yo
3.— Hydguoa Ev Upacua 280 doy. xoi w0 Emdinco 303.80 doy.

ITdeov tols &xatov (X /) Enéodnou ; (Gr. 8,50 9/,
: 4.—0 uioBoe &vog tmuhlilov and 3500 Sox. Mithdn sl 4375
doy. IIdoov vois Exarov nvERdY obtog ; (e, 25.9/,):

5 —Eilc thv A’ wdEw foav dyysyoauuévor 120 padnrol ®al moou-
BuBdodmony 96 uadnmral, [éoot toic fxatdv mpouBiBdeIncoy ;
(Gm. 80 °)-
6.—Elc maviondhng, movjindher tiv dxdv tiig Cunydpsws 22 doy.



16 i

; 1 . % SV
v mmhel TMoa 16? dox. v oxav. Ildooy tolg Exatov ExmT@OW

HAUVEL ; (B 25 /)
7.—EnlMowoo S thv dyopav dvdodrwv 120,000 doy., &x g
awMcews 8¢ adrdv Elafov 148.800 doy. Ildcov woig Exatov Exi Tilg
aElac tiig Gyopdc vov éxépdnou ; (dr. 24 9).
‘Ouag vy
1 —Eic Eumopoc mrwyeboug ouvvefifdodn va alnodon dmo e
%0én touv 172.000 Spy. ta 359, Iéoa Exhipwoe; (am. 60 200).
2.—Biz Bnape orvdow ahnpoudv xai cuvvefifdodn va mhnodon
45 0/, Ildoe %e ndon elz 4o Tovg mLOTWIGS TOV, GOt TOV ENIOTMOE
110.000 dpayudc ; (Gm. 49.500).
3. —"Eunopdc tic Nydoacev Eumopeinate atiag H4.780 doayudv.

! e 5 ol e :
"Eaeldn 82 ta éxhjomoey duécme 100 Erapoy EXTImoLy O fy. Ildca Ba

ahnodaoy ; (Gm. 51767,10).
4.—0 yhwpog adnav, évav Enoavdy, ydver 15 %y dmd <0 Pdoog

tov. [ldoec duddes odmwy da peivy Enpds, o Evae maviommln, doTig

fydpuce 120 dx. yAwpol chdmwvos ; (Gx. 102).

‘Opog 8 :

1) Ewrépnopoc Mydoace oivov xal gnhjowee 16575 doy.,tov uere-
nhnoe 88 pe nfodog 15 %/, &l thic dElag thic dyoods. Ildoov Exep-
dMoEY ; . (4. 2436,25).

2.—Ex 1iic mohijczmg Pourdpov Enuiddny b %/ éxi tiic’ dElug
tov. IIdcov elnuuddny to Ghov, Eav §j dEla tol Pouvtipov firo 25.300
dpoyual ; = Sam, 1290);

3.—Endloca plev oixlav 393.1256 oy, xal Elnmddny 7,50 %,
gmi tijg GElac thic ayoodc. [Idoov v elyov dyoodoer; (dr. 425,000)..

4, —And play Eriyzelonowy, dno v 6moluy Exépdnon 109/, 2xép-
dnou to Ghov 9.660 dpayuds. ITolov xepdhaiov eiye xatadéoer &
adTiv ; (Gn. 96.600).

= : ke fld ; 1 e
5.— Hopdhoa v oixiav pov dua 4 Ewm moog 2—4— 9/ 00 el ExAN -

pwoo 187,50 dpuy. & dowdhiiorpn. Ala mécov mooOv Nogdhioa v
oixlav pov ; . (Gm. 37.500).




6.—"Ennoodc tic diaMiov 0 xavdotnud tov ExmAnce T gumo-
pevpata 1ob xovactiuotés tou ud Tnuiey 10 9. “Av § 8k Cnule fqto
65,400 dooy. mdon Aro i OAn GEla TV Enmogevpdriwy TOU ;
: {(Gm. 654.000).
T.— “"Evog moapuyyshioddyog Gmd v mOAncw EUmopsupdioy
ZhaBe dc mosootea wooe 4 Y, dpay. 86.000 éces dooymes sivar B dela
TV 3UITOQEVUATOV | {(Gx. 900.000)
8.— EnxMowoca 3t dogdhwiga g oiriag nov mpog 4%, do. 630
Al woTov mocoy fomdhice v olxiov wov ; {(@m. 170.000).

[’. MIPOBAHMATA :
THE ZTYNOETOY MESOAQY TQN TPIQN

‘Ouog o'

1.—10 2pydzor oxdmnrovv wuiov dumshov 12 crospudrmy sig H Mue-
ooc., Eig néoag fuépog 15 Epydrar 9d ondipouvv plav dumehoy 36
CTOELIATOV ;

Adous.

Kazdrotic zov mpofifjuazoc.

10 E&py. 12_ crgeu.:’l TiL.

-1—5 » é_ﬁ SR
Zoynprois.

10 Epydrar oxdmtovy 12 cvpdu. tig B Hutpus.

20 » » 12 » S

DO =

2 G S 5 e . | i -
Apa 10 mocOY T@V Eoyatd®y mEOg TO WOCOV TOU GYyVMGTOU Syl
AVTLOTOOQ WS Gvdhoyoy.

12 groéupata 1o oxdmrovy 10 Epydraw slg b Tuéoag
24 » » » 10 » » 10 »

“Apa 10 mocdV THV oTpEMpdTOY mod TO mOGOY TOU Gyv®doTou
etvol evdéac Gvdioyoy.

' K@N. 2. E@NZTANTA, Moofiipare ZT' Anpoz., 8. IV 2



Etigeoig 1ol X :

Ilooc stipeoiy ol Gyvmorow X, molhamhocidlopey TOV VIEDGV®D
antod yeyoouupévov aorduov Emi ta xhdoudre, mOU RAVOUY T AN
T0od, Gviscrooppéva uéy, dowy 1@ mocd eivol sulémg Gvdhloya mpog
0 TOGOV TOU riyv(fjcccou, Brmg Exovy 08, OGWY TO TOOH ELVGL AVILGTEO-
Qws Gvaioyo.

v 10 (6 : 5% 2X6
“Hrou .‘{—_:!)X%) 50 2 2 bE  OEBD)

19770 Y eomast e
=10 fjuéoar.
2.—10 2oydrar maiovevy 4500 dpy. eis 6 fuépac. Ildouc malg-
vouv 20 2oydron slg 12 Ruépag; (w18 000).
3. —T miyeic Dpdonetos whatove D gountwy GElCovy 280 doay.
TIdcov GEiCovv 10 mfygec idtov Gpdountog mhdtovg 1 mfyewg xai 2

oounimy ; (am. 300).
4. Mia dpdvipie vpaiver wE 8 0%, VIIUETOG 20.—‘3 Thyele  Dopd-
oporog mhdtovg 1 angewme. Ildcoug anyels v@dountos mhdtovs 5 gou-
niov Yo Opdvy pe 1D duddag vijuatog; < (Gm. 61—?).
“ [ :
H.—b péroa tedouarog mhdrovg 6 govniny mwhotvrar 750 douy.
Hécov da ddom Sue 10 . pétoe vovrtov, mhdzovg OGpwg 7 povmiwy ;
(. 1750).
6.—4 Zoyduot Boyuldusvor S doag thv fipégay oxrATIOUV GYOOV
10 oroepndrov eic 10 fubous. Elg ndoag fpnépug 12 oydrut Epyold-
nsvor 10 Goeg whv fuéoav G oxdpovv Eva dypov 15 oroeppdrov ;
(Gm. 6).
& e el e aRs s Ay Ve
{.—16 gpyuruL gpyolousvol 1—2— WoUg TNV Tuepay Eoxaayv Elg
12 fiuépac plav tdpoov unrove 30 uétpwy, mwhdvovg 0,80 wérpou nal
Bddovs 1,25 pévowv. Elg nboac fuéoug 24 Eoydror eoyalduevor 8
moug Thv Nuéoay da ordpovy dhkny tdooov unxovs 100 pérowyv, mhd-

: i ; 3
tovs 1 péroov xai fddoug 1 pérpou ; (G, 9?).

8.—Eis 2oydwns 2oyouldusvos 8 dpug v futoay, toaiver 20 pé-

100, £vOg U@dountog gig 4 fubous. [ldoag doug mpénmer va Eoydinval

Sheceiu e

S T
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TV yuégav did vo todvp 4D ufrow TOU ovTol Updcparog sig 12

fluéoas ; (Gm. 6).
9.—T Eoydrar foyaldpevor 8 @®oug wiv fuéoay, Aapfdvouy

14087.50 dooy. eie 20 fuépos. [Hiooe Sooyude da AdBovy 21 Soydral

(1

0 Ieis o ; . 2
pyatouevol SF Gpog thy fuéoay &l 20 fuéoac; (Gm. 35218,76).

‘Oudg p'.
1.—12 Boydrar mofovouy eic 10 fuépac 5400 dooyude 6 Eoydrot
ndous Soy. Yo mdoouy elg b fudoag (am. 1350).
T

2.—8 goydrtar Epyalopevol — (Doag Wy flugoav oxdmTovy Evet
2

dqumeh elg 10 fuéoac. IMdone doog Ty quéoov mpémel v

=]
0o
el
L
R

= T
e
=
=
=
=

dia vo 1o oxdipouy 6 Eoydran elg 12 fpéoog ; (am. 8—).

3.—5 Epydran Ehafiov eig 1D nuspac 5662.50 dpoy. [Toons dpay.
Yo AdBouv 8 Zoydran sic 12 fuéoos ; (Gm. T248).

4. —10 nriotal epyalduevor 8 doag thv Nuéooy xwilovy piav ol-
xilav elc 27 Nuépas. Eig mooag fuéoag Ba nticovv tavinv 16 ntiotau

1 A
2oyalénevol 17 MEUs TNV Nuépay ; : (Gm. 18).

5.—15 urioray doyaléuevor 8 dpag thv fuéooy xrilovv tovg tof-

S 5 s : 5 - Lo 5
yove pidic olxlae sig 17 fuéoas. 10 xzioton goyaliusvor 8—;2— Woag TNV
fudoay el wocue fuéoas 9& xrlcovy todtovg ; (am. 24).

@ iledar v %
o 2 7 E =~ (= Is D / A o < \ 3 =
1. —Evug epyding elc 15 fjpéoug EEetéhece 1o o £V0C E0YOU EQ-

valduevog 8 doog thv fuéoov. [ldoag dpoug meémet vo 2oydinrtar did
vii exteréon 0 Uméhoumov Eoyov el 4 fufoag; (dm. 6).

-)

2.—24 foydron Eoyalopevolr T mpag TNy nuspay EEstéhecay to—

n

goyov tvde lg 22 fiuéoug. Ildous doog mofmer vi EoydCoviol Ty
fpéoav Bud vi éxtehéocouv tO Uméhotmov Eoyov elg 28 nuiows ;



iy

S 5 = Sl 5
3.—12 Eoydrow eEevéhecav eig 16 fjudoug 1o 5 £VO0G  EpyOu.
. 5 ’ 2 ’ p. 3 3 G S c € 2 =)
Eneira drneyopnoav 4 Epydral’ perd mocug Nuéoag of tmdhowmor 2p-
ydror 9o GTomEQUTMEOVY TO EOYOV ; (Gm. 48).

~ 4.—8 Epydrav dvélaBov vo Extehécouv v Epyov sic 17 fufoog
goyalopevor 7 moog thv fufooy, Mera pyociav D fusodv dmeymon-
cav 2 8pydtay, of 88 Umbhoiror éoydlovray 1 Hoov mepLoodTepoV TV
fusoav. Metd mdoov yodvov da exterécouvv to Eoyov ; (Gm. 14).

5.—“Ev gpyov mpdxeitar va Buteheod eig 30 fuéoog’ 38 Eoydro
2 3 ¢ L 3
2Esvéhsouv T =5 obtob &lg 24 fiuépog. Ildool Bpydral mEémel va moOo-

oredolv Gxdun dud vo Exvedeodq 1o Eoyov ele v cuvugwviay t@v 30
fuepdv ; (am. 38).
‘Opag 6.
1,—Mia 618106 doxds pfixovg 5,40 pérowv, mhdrove 0,20 wéroou
#ol mayous 0,15 pévpov Cuyilel 120 duddag »al 240 dpduic. Ildcov
Pa Cuylon Ghdn Boxog pfxovs 2,70 pérpwy. mhdvovg 0,15 pérpor xoi
3
ey

mayovg 0,10 pétpou ; (am. 30 50

=

3 z 4 I~ O 7 . A 4 A
2.—E s tdnng phxove :)? MNYEDY Aol ThEsoug 3? TNYLEDV

Tuudrar 1000 doy. ITdoov tupdtol Evag dhhoc tdane e idtus moldon-

; o 3 : 5 .
TOS WN%OUg 4? ANYEWY, mAdToug 08 4 mNYEDYV ; (dm. 6400].
4. —Mia tdppoc phxove 75 pérpowv, mhdasove 0,80 péroou xal
/i e : ; : i ;
Batoug & vob uéroov orouyiler 20,000 dpyx. [Idoov & crovgion uic

1
aMn tdgpog urroug 1007‘3 pérpwv, mhdtove 1 pérpov xail fadoug
1,20 pérowy ; y (. 50,250).
‘Opag €.

1.—“Ev avroxivntov Sworoéyer elc 4 fucoae 300 yhidpetpe Toé-
yov éml 12 Goog vy npéoav. Ildcug Gpug moénmel va toéxy Iy Hué-

AR A o L L b

s
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oav did va OwatpiEn we v Wlav vaylmnra 650 yihidperow &l 6
i A
nuéoog; | (Gire. 6?).
2. —"Evac 60oumdpog diavpéyer 110 ykidustow sig 4 Npéooag Bodi-
Cov & doag T1v fuéoayv. BEic mdoac fuéoac dd dototEy 275 yikidue-

ton, Eav Badily 6? moag IV Nuéoay ; : (am. 8).
‘Opag ot'.
' ; SO Sl !
1.—360 orooti@tar yesidlovial thv HuEeay 6(7 onadag rpéo-

1oz, Ildcov da yostaotodv 1400 crpotidral elg 6 fuéoag; (Gr. 1575).
2.—840 srooridrat wohtopxnuévor Exovy toomag A 1 pive xai
4 fuépoc AauPdvovees 6AGxAnpov crtnoéclov’ Enidoy duwms 160 ovou-

T 4 e ; A AT
ndral Gvev tpo@dy xol of tmohoumol Aapfdvouy to e TOU OLTN0E-

stov. At mécug furéoog Yo enaprécovy tpa al Toopal ;
(Gm. 1 pfive 26 Au.).
3.—Bic &v poolplov mokioprotvrar 900 croatidral €0vies TRO-
@ac 8¢ 1 piva. IIdoot crparnidral moénear va dEhdovy &x Tol @pov-

el i p
pilov dud vor Bmapuéoovy al toogol oL 1 ufiva sig tovg vmohoinoug

2

2 : 3 = ; =
groatiorac Aaunfdvoviag o GLINOEGIOU ; (Gm. 100).

4.—900 otpani®tor wohioprolvial Eig €V (PEOUOLOV EXOVIES TOO-

@iz i 60 findooe MASev Suws 3E Goydic sig Tavtovg forideta @md 300

orpatichtag Gvey tpo@®y. Lldoov pépog 10U @eyixol cutnosciov moémel

v AapBavy Exaotoe otpatidtng Sue ve @Udoouv af toogai d° 90
1

Tudonc ; V : CAn. —2—)
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INMPOBAHMATA TOKOY

SHM. Ta mpoBMuate tdnov eivar meofifinote this ocvvdérov
petodov TV TOL®Y.

AITO MNHMHZX.

1(%). IIéoov téxov pépovy o

2. »
3. »
4 »
5. »
618, s
i »
8. »
9. »
10. »
11 »
12.(3) »
13 »
14. »
15, »
FPAINTOE
L. I1é o}
2. Iléoov 6
S 101
4, » »
B » »
6. » »
T » >

b2
>
>

>

>
b3
2
>
3

>

»
>
»

2>

»
>
»

>

>

>

>

>3

»

@

»
»
»

»

>

b3

>

edging’s
1 &roc mweoe B,
S >
» » »
> > »
» » »
2 Ewm >
2 » »
3 » >
3 » »
4 > »
4 > »
6 ufivag »
4 > »
2 » »

3 >

» 8000 Syl
» 480,60 » » 2
» 580,60 »' » 5
> U0 o

»

>

»

>

>

>
>
b>)
>

6%,
8%
8%,
9%
1085
4%
5%
6o
S
8%

af 200 dpoy. :

» 400 »
» 800 . »
5115 1) R,
» 5000 5
» 3000
» 600  »
» 800 »
> 2000 >
» 5000 »
a4 800 »
» 500 >
S G0
3 200
» HOOo 3

cov ténov qégovy HO0 dpy. elc 1 Eroc moog 49, :
xov @éoovy 860 dpy. of 2 Ein wpds 69/, ;
do0v téxov gépouvv 650.80 doy. ot b Etn woos 5 Y/ ;

b3 80/0;
>l
» Sl

S B

(1) IloiiomlacidCopey T0 EMITOXLOV £mL TOS EX0TOVICEOUS TMOV DU DY,
(2) Etolozetar 6 16%0c 0l £T0US %Ol £meLto. TMY TOARMDY ETMV.
(3) Edploxetor 6 w6705 70U FTOUs ®ul &melve. TOU REPOUS TOU ETOVUS, 7OV

amorekolv ol Wijves.




8. Iécov téwov @égouvy 3500 Soy. ot 2 Em woog 6.50 % (45D).

9. » » S EEN s e s A 0
10. Ilocov wdxov qn-,QOm' 600 doay. of 6 pijvag ‘J‘EQO; 2 ae (k)

11. [éoav wdxov @égovy 1500 Spy. ot 8 Eim moog 6—; 0/ 5 (292,50).

: % =

2 > » Senel e e g V(B 6

5

18. ITdoov toxov @éoovy 600 dox. sk 1 Evog =al 6 wiivag meds D% 1
I (cme. 45).

14 TI6oov tanev cpsouvv 9570 doy. elc 2 fwn xal 4 pfivog wEOS
AL B0 : (Gm. 262,50).

15. Iléoov térov qéoovy 300,40 Soy. sic 3 #m xal 8 ufivag meog
1 4 2 i
.:3*—‘/0 { (G, 154 07),

16. ITooov toxov @EQOLY, 500 Box. &ls 45 fuéoug npos 8 %, (8,50).
17. ITdoov téxov @éoovy 1800 dox. fig 20 fuéons mpog «S?; (8,50).

18. TIécov téxov ®épovy 4000 Soy. eic 15 findoas mods 4,60 °%;
(. 7,50).
19. TTdcov téxov @éoovy 840 doy. eic 8 pivag xai 10 fufous woOS
G500 . (Gm. 43,75).
90, IIcov téxov épovy 7200 doyx. elg [ Erog, 2 uiives #oi 20 Hué-

n

pog moog BT oG : (Gm. ©94)

21. [éoov térov wégovy 21.600 dox. &ig 2 #m, 4 ufvag xui 20 fuE,
oog modg 5,50/ (a® 283 .80).
92 "Broxiodncav 12.500 Soy. mooe 12 Y, sy 12yv Mogriov 1947,
[Idoov téxov Sa géoouv uéyor tiig 18ne Adyolstou idiov Frm"" (625).
98. Iécov téxov didovv 8800 dpy. tic 1 Erog, 2 ufjvag xal 8 fugoas

1 .
0% 4?; (Gm. 470.80).

24, [Técos sivan 6 clvidetoe térog 2vos yoouuazion 2000 SQG}'_. gl
3 Ew mooc H%o; (dr. 315.25).

5
Q
-



AIIO MNHMHS.,  ‘Opég P’

1(%). Molov xeqpdhatov iz 1 #Frog mpog 67, Epeoe téxov 12 Spy.
2. » » o R 55 i G » M
3. » » Ml A » > 60 »
A2l » e S s Y Dt 20y
5. » 5 DR s By 36 »
6. » » > el e U O Sl 5
7, » » Diads e N0 S T
8. » » ey SO » SR o
9. » » S R (G » 900 »
10. » » » G pfvag» 8%  » SRR IO
A » » ISR e 5 0 HOL
TPATITQX.
‘ 5
1.—Iléoe: dpayuss Eddveloo xal mfiga 10xov ot 3 Ery moos 4 ), b

60 dpoyuds ;
Adoie.
o) Awdratig tol mpoflinaroc
100 Boay. c’i groc 4 doy. tdrov
X 3 60 » »

B) Edyroisic moody

27 1 Evog 4 Spy. tdnov tic divouv 100 doy. xe@diaiov.
» 2 &M 4 » D T 50 » » u
“Apn T mock Tol yedvou xul tol xegalaiov eivar dvitiorpdgms ;
GVCAOYO.
27 1 gvog 4 dpy. tdwov tig divouv 100 Soy. xepdiaiov. ’
Syallisein S8 Gtk » » » 200 » »

El \ Y ~ ’ \ ~ N t g -} s 3 ’
Aoa td moca o throu ®ol tol xepulaiov elvar ed¥éwg dvdhoya.

(1) Arargotuey tov 1620V dud ol Emironiou. To smhizoy elvar Exatovrddec,
(2) Evolozetor 6 7oxog tol 1 €vous xol Ouclpeitot Ouy Tod émitoxiov.
To zequhowov eloloretar eig Exoroviddec,




v) Efpeoic 1ot dyvdorov X. (bg yvwardv) nrot:
Sl 1 &0 1 s BT

]

| - ; : 3 . : L
2.—IToiov xeqdhaiov eig 4 £1n mEog 7IU/U #dwne tomov 17D

dpoyndc ; (Gm. 2500).
3.—Iléoaz doayude 8ddveloa mooc 109/, nol éxnoe OO Ey Erog
ooy 1500 dpayuds ; (&, 15000).
4, —TTolov xepdhavov sic 8 nives moos 6,60 Y/ Epeps téxov 58,50
doayudc ; ! (G. 1350).
5.—TTotov xeqpdhaioy 2dwne tdxov meog 4,507, eic 20 fugous
12 dpaypde ; (G 4800).
6.—ITotov xepdhatov el 4 pfivag wul 20 AQuéous EpEpe toxow
Toog T% of? 70,70 dpoymde ;- (2.525)
7. —Tlotov xe@dhaioy Edmxe Tonoy mode 8,00 °f, eig 1 €vog 4 uivag
woi 15 fuéoac 420,75 doayude ; (&m. 3600).

8.—Tlotov xepdhatov tomCouevov mpog 109/, dids1 &mowov Eoo-
dov, Boov 6 2riiolog puoBds §vde Bmadhflou, tol dmoiou 6 uyviaios

niodog elval 4750 ; (Gr. 570,000,
9.—Tb &crigiov évolniov wids mohvravouriug glvar 24000 dooy-
GuodideL B2 tolovtorpdnwe i GEla i oixlag nadapdv Eoodov 6 %,.
Iofa sivat § GElw g olxlag ; (& 4.000,000).
10.—ITolov reqpahoiov moog 4~;— 0/, @éeet téxov 1600 doy. Gmod
e Bne Mootiov 1935 péyor wijc 19mg Avyovetou idlou Evoug;

(. 80,000)

‘Opag v
ATIO MNHMHX.

(*) 1.—"Edav 1000 dox. gl 3 #n Egeoov toxov 240 doy. ndoov
Toig Enatov (X %, ;) eronlodnoav;
£ 2.—600 doy. elc b ¥ Epegov téxov 300 doy.” X O/, Broxictnoav

(*) Edoloxevar 6 toxos 10w 1 #rous xol diaipeizol did tOY EXUTOVIGOWY
70U zegahialiov. 3
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3.—400 doy. o 1 Erog Bdwouv toxov 24 doy. [Idooy T0ic Exutov
(X %0:) BduvelodInoay ;

4.—800 &oy. o 2 Ewn Epepav téuov 80 doy. IMécoy TOlg EXGTOV
(X 0f.:) &daveladmooy :

5.—Ildaov volg Exarov (X °fy; ) Edaveiotnouy 400 doy. »1” Bpeooy
ot 1 &roc téuov 20 dooyinde ;

6.—Ildoov toic Exurov (X %45) E8avetotnouv 300 Soy. #0° EPEQOY
ot 1 &roc vénov 56 doayudc ;

7.—Ildoov voig Exarov (X 'o:) Bduvelodnaay 600 00y ®U EQeoov
g& 3 B tdnov 180 Soayuds

8.—I[Idoov voig Exazov (X U, ;) moéner vir SaveisSoiy 12,000 oy.
dote 6& 10 Em v SurhucrasGotv : :

R A S
1.—Ilpdg néoav tolc Exazdv mpénel va SuV(soﬁmr‘L 560 Gox. die
vi pégouy elc 8 Eu) tinov 168 a0y, : [Gae O
2.—[lpoc wdoov toic Exatdv (X 9/0) 8¢ Savelcouey 400 doy. dud
va mdowpey elg 1 Eroc 48 Soy. téxov : (am. 129/[,).
3.—Iloog moiov Enitduov (X /) Edavelouuev 650 doy. nol  Ehd-
Bouev eic 9 ufivag 39 doy. téxov - (o )

. ; el : ;
4.—TTpoc moiov Emitduioy edaviloopey 45()-—_}- doy. Enl 4 Bty xol

émfoupey téxov 108,12 doy. (. 60/0

5.—4.500 dpy. gdavstodnouv xai BAdBouev perd 1 gtog, 2 uhvog
xai 20 fuéoag 4967,50 Soy. Ilgoc motov Emitdniov Edavelodnouw :

& (am. 8,509,)
6.—TITooc adoov toic Exody g0avelotinoay 2400 oy, =0l Epegov

gig 10 ufivac xot 15 fuéoaz térov 189 doy. ; (G7c. 9%,).
1.—M2 molov Exirduiov Eareiody tig 7640 doy. i éxhjomoe
ueve 2 Evn stai 8 uiivag 9779.20 dox, S ne@ddoiov xai téxovg wakl';

(am. 10,509/,).

8. —Eis fiydouce Ev xrfine gmo rapro@opa 6fvdow avtl 245.000
90y, Gmo T dnoiov Ecodevel xadaoov £godov to Eroc 15.680 doay.
ITéoov tois &xatov Eoodede : 75 (G, 6,40°/).

9.—Tav 20 “Lovovapion 1926 édavelotny 5 800 dpy. tag omolag




; T
FEdolnoe thy 20 Sexteufolov diov Erovg dia 6206 Soy. 1lpog mooov
tolg &xatov (X 9f) Eduveiodny (Gn. 10,50%).
10.—TTéoov toic exazdy (X 0/y) troniodneay 3500 doy. xal Epsgav
w6nov gic 2 B, 4 pives xul 15 fuowc 665 Sposuids ; {iGm. 8:%)-
11.— Aydoace Evag Bouvrvoéumopog Bovrvooy nmoog 60 Boy. v
drGy nai O peremcdAnce mstd 6 ufivag mpos 64,50 Sox. v Oray,
IIéoov tolg Exatoy (X U/.) Bxéodiosy ; (ém. 15%0).
12, —Hyboaca &vee amivy 450.000 doy. dmd t0 omotoy xalove 1=
viaiov 2voixiov 1875 Boy., &odedw 88 81”7 Emiorevdg 112D dox. xal dia
@6pov mhnodve 2260 doy. nat Erag. Ildcov tols ExuTOV OLOOLY Hi-
Jaodv Ecodov th yorueTe, wou Edwwe b v Gyooay Thg olxleg ;
(Gr. 4,259/).
‘Ouag 6.
AINO MNHMHZ

()1.—Eic déoa Em 600 dox. modg 5y Epsouv vénov 60 dpy:

9 — Eic néoa & 1000 doy. mpods 8 0/, Epepav wénov 320 Doy ;

3.— Eic néoa Em 1500 Sox. modg 6%y Epsoav tdnov 360 douyx~
uds ;

4 — AT 200 doayual eic mhooy yodvov mégovy Téxov 8 douyuds
aooe 8%, ; ; b \

B.— Bic wécov yodvov 300 doy. & qéoovv 12 domyude TOxOV
wooe 129 .

6. Hic méoov yodvov ai 600 Jowguol 9 @éoovy 0ROV 20 doy.
mods 10 %/, =

TPAIITQX
1.— Eig wéoov yodvov 8500 doy. *daveloincay mooe 12° xal
Zpeoav tdrov H100 doy ; (Gm. B).
2.— Eig wooov yodvov 4500 Soy. #Swoxav mpos 8,407/, wixov
- 252 oy ; (6. 8 ufjvag).

[*) Efploxetar 6, worog tod zeqaialov slg 1 €05 xai O autol Sudi-
ogltaL 6 6A05 TOXOG.
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3.— Eic rd0y, yodvov 10000 3oy, Bdwxay mode 5,50 %y téxov
27,50 doy, ; (Go. 18 )
4 — Eic mdoov yodvov 2400 dox. #dwnay wonov 174,20 Sey.

1 1
ooz 6 —2-01’0; 1 (om. 1 Z. 1 pny, 12 fu.).

L il
9.— Trv 10nv “Tovviou 1946 2ddversa 1400 Soy. TOOg 7—2—~ s

“Ehofia 68 xute vy 2Ed@inowy 1557,50 doy. Ildre Evwev 1) 2Edpinais ;
(Gr.10—12—1947).
6.— Eic ndoov yobvov xepdhatov 840 doy. moos 8%/, dumhacudle-

TaL ; {Gm. 12 o étn).

1.— Eig méoov yodvov davelodn Evag 12000 8oy, mode 8%y xai
Eywe  werd 1oV toxmy tov 14.080 dpoual ;

(Gm. 2 Fwm xai 2 pfveg).
8.— "Evog novéldese yud mooina  tiic #Goms Tov xatd v yév-
vnetv e 400.000 doy. moog 8% “Otav dmavlpetdn i xdon Fhae
g’ - Todmelo 1.040.000 3oy (k. xal térove). Ildcwv Zriv fito ;
(20 Zrn).

“Opce £

1.— “Evac &davelodn yoduara modg 5,507/ el eic 3 Fn 2mhii-
owoe xepdlatoy ol toxoy wall 1673 doy. ) Motov Ao o xe@dhuiov
mov elge Savelodd) ; () Iloloc 6 véxog, tOv Groiov ETAT|DWGE ;

Ao,
Kazdtd&g.

100 dox. 1 Zvos 6,50 doy.
TR S Fgl e X »

Zoyxoiois © yvwor.

Kficeo s xon - Feo N b5 % — 6,50:K3—19,50,

S



0]
o)

o, Kovaroafig.

Kep. nal tonolr 11950 doy.
> S 1673  »

gtm 100 Boy. weq.
» G »

3
i

Zhproiais | yvwoth.
1673 167300
119,50 = 119,500
33460 6698 3346 334600

Edgeoig zot X : frow = 100 X

PRO0N L AR oSO R

= 1400 6oy,

B'. Kazdzalis.

119,50 téroe xal xep. 19,50 dpy. t6xog
1673 » » » X » »

ZUYreIcLs © YVmoTY.

16731 32623 50 0
950 a0,

Efgeots vot X ¢ frov X = 19,50 X

09957500 | s9kvs | eboul | .
SO0 . 9 0 e

SHM. ‘O téxoc sholoxetar xol 1673 —1400=273 doy.

9. — *Edavelodn tig yonuata mweos 6% xal sic Eva Erog ExMipwoe
dLd wepdiatoy ol torov pall 8034,80 doy.

a) [lolov xepdlavov Edavelody :

f") Iécov téxov ExAiowoey ; . (Gm. T580—45H4,80).

3.—EnlMowca dit toxoue xal xegohiatov petd 8 pwivas B350 dpy.

"Av elyov Saverodi oo 10,509/, : o) Idsov fro 0 xepdiatov, mou

2davelody : B°) Idoos fito 6 téxog mov EmMigwon; (G, HO00—350.)
4,— Brdfomea did téxovg ol we@dharov Guot werd 1 €rog xal 6

unvag 872 Boy. "Av eiyov daveisdi moog 69, : ') Iléoa elyov davel-

o) ; BY) mooe Erhfiomon Sia ToROUG ¢ (Gm. 800—T2).
5. —Il6cas dpoyudc moémey var davelow moog D,40 %/, Sua va mdpw

Cpete 4 pivag 20 fuéoog weqpdiaioy xal toxov wali 3063 doy.

j (&m. 3000).
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6. —Katédeou &l 10 rautsutiorov v 16mv “Touviov 1947 &y
7060V 7odg 6 °f, xal thv 15mv Aexeiifiolov ToT idiov Zrove 10 dméouod
nal Elafo o Shov 51500 dpy. [dsa elyov xutadéoer;  (dm. HOO0VO).

‘Opcg ot ’
~ 1.—Kot9eoa eic to Tayudoopndy Tapteveiiolov: o) thy Iny
Defioovagiov 1934 doy. 450, ) thv 10mv Adyovorov idiov Zrovg
dgy. 720, v7) v 1nv AexeuPoiov idfov Erous oy 600 xal 8°) wiv
201y Maotiov 1935 doy 540. Hsar O elvar of roradéceic pwov werd
TOV TorwV OGuoT eic TO wEhog to%lﬂ%, dv 10 Tontevtiotov minomvy

dua tdc notadéceg 4 °/, vénov ; - (Gsc. 242R30)
5 : 3 L
2,—'1:;5_@8[0&1} tig gno v “Edvuay Todmelav modg 7 ‘—z%’

a’) v Ilnv Magriov 2v. Zrovg (1935) 30000 8oy, B’) v 10nv
Maiov idiov Eroug 14.400 doy.. v) iy 2uv *Tovviov iBiov Erove 7,200
doy. [doa Ha alnodon thv 10nv AexeuPoiov i§lov Frovs dud vér whn-
ooy T¢ %ofn Tou Talta (Gre. 54.962).
3. —KatéSeaa eig ulav Todretav mooc 4 "/y : of) whv 14 Maoziou
1935 8oy 2.700, §7) wiv 20 Matou 1935 Soy. 4 950, Tiv 20 6¢
“Oxrwfolov 1935 dréouon tig ruradéceic wofl pé tovg toxove. Ildsw
Zhafa : (Gz. 7797,30).
3.—Ildcov Evoixiov Ha alnodon pia oixoyéveia 1oV wiva o0
wou MiEfdmoav 1o Bvolwia 10 %, xal % 6moia emiowvey £wg 1dpa,
8oy. 1.200 tov ufjve - (Gm. 1.320).
5.—"Euncobs tic Tybouce map’ dhkov Fumdbpeuma GEloc 2850
doy., T 6molog cuvepdvnoe, va mhnowoy petd 4 uijvac ué Emirdriov
8 V. doug douymdas a méon ©o %0emoTivdY yoouudrioy : (2926).
6.—IIdoag Soayuas V& mdon Sutt zeqdhutov ol téxove perd 3
& elg, dotig Eddveise 10.000 Souyuig wods 5% ut Gmhobv téxov xoi
mooag doayude Ba xdon dv to Sdvelov O Exaus nd auvdetizov TOXOY

(Gw. o' 11500, B°. 11576,25).

T.— Eddveioa 80.000 Soy. #al ti pev - abt®y meog 69/, Tag

< 1 : ]
d& Umohoimove modc 6 = /o éoov téroy dd Aapfdve xat’ Foc -

: (6. 4960).
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8. — Katédeow elc 0 tapudoonindy. tauteveijowoy 8.000 doy. wo0g

4,50 9/, nal toe dréovon wevd 3 wivog. Moo énfign ;  (dm. 3150).

‘Ouag ¢
— Bl mdoov yobvov xepdhatov 480 doy. voxilopevov oG
f toumhoeLdleTa ; (Gre. 44 Eom D wfv. 10 fqu.).

@

2, —Eic ndoov yodvov reqpdhaidv tu tomlouevov moog T —"/, du-

o= b

4 50

e

R s o 7
TAUGLOCETAL ; (18 Ewn 4 wijvec).

3. ——"Brl ndoov yodvov #daveloOnoay 2830 8oy, modc 12 Y/ nal
Zyivay uetd tob Towov twv 3277,50 dougpat; (dm. 1 Evog, 3 uhv.).
4 — Mia oixlc dider amo Evolwie xovd torumviay 6875 0oy,
Tolovtotodmme D8 1 Gtla tiig olxioe dmodider »Eodog 5Y/,. Tofa slva
T GElo thg olxlug; (&z. 550.000).
5 —"Hyboooa 4 wusroyogs tilg "Edvixfic Toaméing woog 10.000
Soy. fxdomny xal Enflon eic 3 Frm péotouc 11.400 Soy. [Técov toig
swamov (X Y/) &nfioa dmo Ta ,L ofuare, to Smvie Edwre dud Ty Gyogdy
Y WETOYDV ; (@r. 9,90 %qg).
6.—Kara v yévvnowy tiic x6gns nov xapédeco elg 10 TaULEVTY]-
olov 25.000 Bdpy. mode 6 Y, tva T Gmooloy xord TOV yduov g
#aBe 8F afitn tére 63200 doayude. Big molov fhuniey mavdoedmnxe |
(G, 25—};%1:11).
T.— Xwowde tic 8davelodn 6540 Soy. mods 107/, Mera 10 ufi-
vag Bqensy sic tov davetatiy tov 460 dnddus olvov moog T, 50 Sox. Ty
Ondv. Iloco yoewatEl ; (Gm. 3635)-
8.— "Hydpaco wiov otxiay dvri 800.000 5@){ nay My ploy dvel
500.000 doy. *Amolaunfidve de Ewnoing nadapd L0080 % Wy THig mOM-
e 40.000 doy. &x Ot g Odsurépag 25 000 doy. Mécov tilg Exatdv
dohaufdve %ol & tdv dvo Guol ; (Gmo )
9. —To Toayudoouwdy Tautevtiotov déyetarxatadéoels s téxov
6 9,. Mdoae dooguag térov Do wdon Tig péxel tiig 20 Zemrepfolov
1935, 2oy xavédece 6000 Sox. tiv 10 *Tavovaplov 1935 :  (250).
10._—"Evctg HrdMnhog xorédece ot - Tauievtiotoy v 20 Mao-
tiov 1935 Soy. 500 meog 4,50/, xal v dmwéovoe tv 14y *Ampikiov tol
dilov Evove. [Hdcog doaywig Ehafe ; (. 802,40)..
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11.— *Avépaca wiay oiziev dvri 750,000 douypdv. “Amokau-
Baver 8¢ &x tavtng Bmaime 72.000 Sgoyude, 2Eodetio Ouwg wot Eroc
0 &mioxevdc 3500 doy. xal Sid @éoov mhnodva 8500 dpy. [Mdoov Toig
Sroxov amolauPavo ; (am. 8%,).

12.— Eic émurhonoiog mwlel ta Emumhd tou ué xéodoc 10% s H6-
oag doaywie Endotioey Ev Emumhov, T Groloy mwindtvy Fpsos #Endog
160 8oy, ; ¢ (dm. 1600).

13.— MoMoas uiov olxlav dvri 336.000 doy. xéodioa 1%, &mi
tilc déles tiic ayoods tg. Ideov whv elya dyopdost - (dx. 300.000).

14.— Eig &ddvewoev eic dhhov 5000 oy mobe 1095 duc 2 Ewy xad
exgdrnoey ebdic 1ov téxov hoag el adtdv 10 Hmdhowrov. [ode mosov

c |

5 A 1
TL TOlG EXATOV EDUVOLGE TOUYUATIRGG ; (12 —2—“/0}.

mo

15.— TT6oov woémer va 2voraadfi tov ufiva Eva omity, T0 6oiov
fiyoodotn 160 000 doy. xat did ©d Groiov 2Eodeidnoay 20.000 Soje
oL vor didm »éodoc 69, - (Gz. 900).

16.— "Hydouca ptav otxiav 180.000 doy. xul 8E68sucw d1° Emi-
onzvds g 20500 doy. *Ecodedw & tovmg 38 Evoulwv Emofec
13032,50 8oy. ooy Exi toig Exatdy (X °/,) 8idovv Zsodov ta %01~

wate, wov £8mxa Sud v olxlay : (6,50 %p)-
17.— Kotédeoa eig plav Todmelov 6000 Spy. ub dvoroxiopdy
woog 4. Tldca Exfiou perd 3 Eo) : ) (Gz. 8369,12).

‘Opag 1. (‘Opoloyiot).

1.—Opokoyiar elvar Eyyoupor dmodelteic o Kodroue mode toig
mohitag tov, i tdv Gmoiwv 10 Kodrog Savelletar mao® adridv mpoc
DOLOUEVOY EXLTOZLOV, T GTOT0Y GvayodQETal sic oUTHY.

€ D c A c LY ’ = s - 2 td = \ 7

H dEla éndomne ouoloyiag dvayedperol eic avtny, dike modhdxic
uetaPdileral.

¢ ’ ~ c " ~ - - ET ’ £ 3w &

O téxoc tihv Guodoyiiv mhnodverar xod” Eapmviay 7 xat gtog
elyal D& olroc Gvaysyoouuévos elc pixpd tetodymve TOOCHEXOAN Ve
elc Ty duokoylav: Exuctov Toltmy xotd TOV yedvov Tiic mhnowuig tob
tdzov dmoxdmreral xal wooodyeton wEds mhnoOUY.
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HooBMjuare

1.— “Hycouoa 6poloyiac dElac 500 doy., viv 6molwv 6 tbxog

xod” eEdunvoy elvar 15 doy. Mésoy T0lg £xatov Toxllo we yofjwoto :

- (cz. 6%).

2.— “Ev Kodvos ~ 86&5wxe  400.000 ouoloyiog 817 Bv Sdveiov

200.000.000 Soayudv, tob Grotou & Tarog eivan 5%/, Héon elvar 7

aefo Exdomng 6uoloviae xai wéoov doaxudv elvan Exactov toxoueoidioy
AL 6 ufvag -

(é. BOO doy. 1271)— )

3.— To xodrog 2E66wne Sdveiov 5.200.000.000 wol oolodnxe 1
aEla Sndotnge duotoylae 100 Souyudv. boar stvar i Guohoylal tod
daveiou ; . (dm. 32.000.000).

4.— "Eyo 25 Guoloyiag TOU o dvayrxactizol Odavelov Tdv 100
doaygu@y xul Aaufdvo téxov axd ndds Toxousoidiov 4 dpy. T Fros.
Hécov ténov Aaufive 1o Eroc ; (@r. 100).

5.— To 2awrduiov thv duoloyi®dv toll o dvayracTixod Saveiow
nto 6 dox. 10 nodroc Juwe & Thdrrwos xard 29%. Tlotoy eivar 1o
ONUEQWOV EmLtdxiov TV Guokoyi®y toltwy : (Gm. 4,50%,).

6.— To xodrog i dciverov 300.000.000 doy. moog 6%, 2Eédamney
opokoylag vopaotixi dtfag 100 doyx. Ne efionre :

o) Idous Groloyloc REESmxe : (@z. 3.000.000).
B) IMdoov térov adnodver 1o 2105 | (ére. 15.000.000).
v) Hocov téxov xad’ EEaumviay haufdver Evag, dotig Eyel HOO
ouoloyles : : (. 1500),
) Mdoov 62 AauPdver téxov tdon, o O wodtoc Mhdrrmos TOV
Tonov xatd 26%, ; (G, 1125).

‘Opcg 8. (MeToyai),

AL peroyel elval Eyyoamor amodeltels, duk T@V Gmolwyv of idou-
tal mds Toamélne 3 uudc Emuyeloniceme davelloveal TOOA TOV TOALTHY
7R0g .Dolcévoy 2miTérioy. f

Big valdvag dvoyodperen 1o Savelliuevoy woclyv, 1 Gmoiov sival
gls Ohog t0 advo xal Adyeral évouasTixy GEia,

O1 ndvoyol Ty uetoy®v Aéyovrian péroyol e Emiyelofoeng, DLty pe-
3
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re,govv Ty ®epdDY aUTNE ELg ToUToUc por0aCovIaL note  EEdumvov i
2on” Brog T wéodm, Td 6mol uonoagovtm elc tdoa péom. Goou eivar o
peroyal, Aoufdver 68 Exaotog wéroyos t6ou neplopare {(uéon), 860G ue-
TAYGS EYEL.

To péotouo elvar edvimroy, Gt anEdver 1 Ehavtolvat &va’héymg
wiv #epdiv The EMLELDNOEDS.

SHM. “H Moic thy npopinudrov tdv u.ero;u)v etvar Moy edvd-
MT0C.

Hpofliuazo.

1.— Mia #rouysionoic 2Eédwxe wetoyag 20.000.000 doaypmy, End-
Grje @V Gmolmv f Bvonaotind aila elvar 500 dooypal. Ildous ueto-
yoig BEEOMHE | (Gr. 40.000).

9 Mio Emuysionois #E£dwxe 10.000 peToyte  Oua - davelov
30.000.000 doaxudv. don elvue i dvouootind] dElu Exdotne PeToyNs;:

(3.000).

3.—AT petoyol Widg amxstoncewg fioov 25,000, ta ds rottapd ns@ﬁn

e 300.000 dpoyudv tov o EEaudvou. [Motov 0 péolona A0TO TO O
EEdumvoy ErdoTNG KETOYAS | (G 12).

4.— *Hyboooé mc_; 150 uetoyds v D00 Souyudy pudic ‘Eropiog.
To wéolouo %ate To o EEGUNYVOV Endotne umeroxfic Mo 16 Sooyuai.
T éoov Toic £xatdv ETdMLGE T LONUOTL TOU § - (Gm. 6%0).

5.— Muia pervoyxn tig. Edvixing Toamélns dElag 5000 doy. &ideu
2o’ Eaunviov péoropa 150 Sanuwv TTécov 'I:OL" fnatov  AapBdvet
%01° #10g TO%OV 6 ndTOY0S GUTHC ; (G GEfo):

6.— *Aybpaca petoyds wibs ‘Eralolag ue 3500 dpoypds ExdoTnv.

"Bay to pfoloua ExdaTng usromc elc 9 pfivag sivon 210 doy. ndcov
Toic Exatdy (X % ) .malove @n’ td gouore ol EBwoa yud T4C  UETO-
%S 5 (G- 8°/o).

1.— Ayéoaca HeToy0s g Toamélng vdv 300 douyuwv, ToU pov

Mo T R ; 1
Saidmray  XuTd TO TEMTOV £T0g Thg Gy0QGc TV UEOLOUT 6? o
2y Bho Of 1560 Soayuds. TTdoug ueroyds dysoase : (am. 80).

8,— Thic adriic toanlng Gydoucu Ghhag p.em,cug tov. 400 dpoyx-
i ;
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wdy, mob wol amédmray elc ta 2 mpdra Fon WEQLOMG 40/5 wol Ehefa gy
8ho 5600 doy. woolrov. ITdoau fioay b peroyal mov dyGpuod ;

(G- LT5).

9.— “Hyel évag 60 uetoyds wuds Emwmg tiov 1000 &oy. &xa-

smy. T uéotona, mod BhaBe oo Téhog Tol Evovc, fto  6,50%,. Iéco

wéotope Bhafe and tig 60 petoyés Tou ; ‘ (Gm. 3,900).

E’. IPOBAHMATA AANEIQN TOKOXPEQAYTIKQN()

1.—— Advelov 8000 Spayudv mode 8%/, 8Eopleitur  ToxoyoemhuTt-
wie 50 Emotov yoewlvaiov 2000 Spaxudv. Eig ndcoy yodvov 4 EEo-
oindn ;

Ados.

Etotoxetar 6 téxoc tob « Frovs, moootiteran eig TO  HEQUALLOV
a3 ~ r 2 -~ \ 4 e ’
xal & T0U adooicuutos dpaigsitan O yoEwAUoLOY 2000. T6 tmorotmoy
elval to A‘-‘CPC.‘.?\C!I.O\' Suit th B’ Evog xal xduvOue T OUTE oY ROAUVULE
Si 10 o Eroc. Ta abvd nduvousy xal ?noc 10 Emopeva Eim uéyors £Eo-
phMioswg, (g drolovdws :

lov #tog : xemdhatoy dpopual 7 8000
wéxoc o Froug t@v 3000 -+ 640
3640
*Aqapsitar yoswliciov — 2000
6640
2oy £roc : xe@dhaiov 6640
w6noc B’ Eroug T@v 6640 - 531,20
il )
* Aqatosital Toxoyeshiolov —2000
5171,20

1) Tomxoc(olu:nxd Sdveim Aéyovear Goc 2Sopholiviay pE  joswAicloy 1
. TOX0YQEMAUCLOV.

Toxoypewhieloy 3¢ slvaL 0 moody T Holov mAnodveTal dY (MOLOHEVOY
goovidy dudotnua (wnos T EScprjvou T Etous) wROS EE6pinoy £vog duyelov.
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3ov Eroc : xeq@dhavov 5.171,20
wénos y* Erovg tdv 5171,20 L 413,70
5.584,90

*Agaipsital yocwhicloy — 2000
3584,90
4ov #10c: we@dhaloy 3584,9(}
téuog 8 Evovg Ty 3584,90 -~ 286,30
3871,70

"Agaiositar yoewidotov —2000
1871,70
Bov Etc: xepdhatoy ' 187'.7'1',70
Toxog & Eroug tawv 1871,70 - 149,70
)

"Agaigeitan yoenhicloy —2000
0021 ,40
Bov &roc :  meqdhaloy ‘21,40
10105 at’ ETouc ol thy 21,40 -~ 1,70
23,10

Eic 6 8 10 nhnowtéoy moody natd o Gov £ros elvar udvov
23,10 doy.

2.— Adveiov 5000 oy, modg 6°/o EEo@leitar ud drfjoloy TOXOY OE-
oMictov 800 doy. Iécag doy. 9d doelhy perd 3 g ; (dm. 5408,20).
3.— Adveiov 10000 S0y’ mode 9, Eopieizo TOXOYDEMAUTIH DS

91" Emoiov yosmivoiov 2400 doy. Eic mdcov yobvov du 8Eoqphndij :
{Gm. £l 6 Zm* 1O 82 ®ard o Boy 105 TANOWTEOY TOTOY 1114,98).
-4.— Advetov 2000 §py. mpog 10%, Ztoghetron TOXOZ0EWIUTLRGIg

die pmviaiov yoswhusiov 500 doy. Elc mboove univac 9o EEoqpin 91 ;
(G- &ic 5 pivag® ©o 82 xave tov Sov uive Thnowtéov wocoy 42,71).
5.— Mia nodicton Gydoace pio gomropnyevy avrt 60,000 doy.
®al GUVEQOVNGE VO Tdg whnowoy of {oac ddoelc xard Tolunviay xoi
uE Toxov 6% af ddoeig o dmwotehoiivral Gro 20.000 do.(mhny Tiic tekeu-
ratag, wov Fdmotehfrar g’ o Urdlofroy) - '
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o) Ildcov ténov & minodoy ; (1863,74)

B) Hooov 9a. srouylon fi pmyovi ; (61863,74).

6.— *Avydoaoe Evac Eva xtfina Gvry 50000 doayudy nal Exhomoe
uovoy 30.000 dox. wdg 88 Hmoholmoue GUVEQ@MVNoE V& Thg mAnodon
el loog emnolag ddosic mAnodvay xal téxoy 47, -

) Mdoov téxov d& ahnodoy ; (dm. 1918,38)
B) Iéoov & crouyion to xifue : (&om. 51918,3_8).
y) Mezo mooa Evy S EEowhndi to yofoq ; (G, 4).

7.— *Edaveicinv 2500 doy. moos 6% ut mhy oNRPOViay vo Tog
mAngoom eic b toag unvialag ddoels, cuyyobvac duwg v winodhvm
ol Tov uexel tiic whnowuilc Exdotne ddoewe téxov. éoov térov 9
shnodowm ; (ar. 37,50).

ZT’. TIPOBAHMATA YOAIPESEQST
A’ EEQTEPIKHE YOAIPESZEQS
‘OUG&S o
L.— Toaupdriov 2600 oy Miyel pevd 1 Zroc xai 2 uives  xol

. Al :
TmoosEo PheiTal o1|(epoy mooe T —_2—0/0. a) Iolo 1 eEwreguxy] tou dopai-

geots. ola 1) mepolcn Tov GEla ;
ddoig o.
Kazdrag.

100 doy. 12  wijvee 7 7}— doy.

2600 14 x

Zdyxgrets Gs Bv 1) moofhjuary 1 tfis a’ 6uddoc ToU Téxov.

— i 3 Lh e : 2600 14
Edpeais w00 X . fror X=7 5 X T X o
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. ED D e e
= —X?G e ?-X26X—6— == 1:)}(13}(-5 =
=5><13X-7,§‘= 4;0 :'227;—59)(.

Adoic . _

Tlode etioscty Hdn tHic mapotong GElag Tov dpaiositar fi Ewreoin
tov Bpaioscic dno Ty dvoudctixiy tov dElav, firol :

it 2 1 1
97, — — 9599 — — 997 — — 9379 — JpK.

2 2 2 DRk
Edolonetal Spme N mopotico GEla xul dn’ evdelog dg £ETic :
Efoloxousv modtov ty magolicay dElov v 100 doy., fizot :

2600 —

8V

1000 &gy 12 WTIVES 7‘—i- doy-
100 » 14 > X

L g i 7 gy
X_HI_E— ﬁ X —‘X —8,736@}‘,

“A o f mupofoa GEla wBv 100 Boy, sivar 100—8,75=91,25 Sox.
Etolonw #1dn v magodoav dElay t@v 2600 Soaxudy-

100 Sox. 14 pivec 91,25
2600 14 X

2600
100

— Téoog doayude T xparion xal wéoag Do Tinoder Evas
roanelitne, Sotig Aydoaoey Eva youppdroy 4000 doaxudv, t0 6moiov
IMyer petd 6 ufivag xai pi dpaioeowy 7%, EEwteoiniv; {G.140—383600).

8.— Toouudriov 5400 doayudv Aiyov perd 20 fpéoac, mooeko-
wheitor anuepoy woos 8.

o) Tléon 7 BEwteownn Tou Hepoioecic ;

) Iola fi maooiice dEla Tov ; (Gm. 24—5376).

4.— Toappdriov 9000 doy. Afiyov uste 6 uivaes xal 8 fiuéoas
wposEoqpheitar ajueooy modg 6,50%,.

Tlota sivel 1 SEmTepun) 10V VQULQETLS ;

dox

X—=09125 X ——— = 91,25 X 26 = 2372,50 Sooyuds.
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Iloie % mopovoo GEla ToU | (6. 305,50—8694.,60).
B — “Ev yoouudiiov OvoracTiniic dtfoe 12.000 doy. ehnye téhog
“Touviou noi mooeEwphhdy iy 10my Maotiov tod 1dfov Erous 7005
129 /,. a) Iola elvon 0 RE@TeQIXr TOV VQOLOESIC |
B) Mola § wooolow GEle TOV ; (Gt 440—11560).
6.— [Coapudorov 1800 doy. mposEmpAim B uivog 7pd e M-
Eehg ToU TOOS 10%/,. o % EEcoTeQUri) TOU Depeiossic ;
: (Gm. T5).
7.— T oopudtiov 600 Sodyu®y AMiyov uerd 4 ufivog woosEophel-

Tal GYHUEQOV TOOG 4—;—“/0. [Mota fi omusown tou GEla
(4. 591).
8 — N etiosdfi 71 sEoveowni vputoeois Oy vt yoauuwatimy :
a) 5000 dey. mooeEoplovpevmy 3 ¥y o0 T MiEewg nooc 4,50%5-
- : (Gr. 675).
B) 1500 dooyxudy noostoglovpévey 2 rijvog oy Ths AnEswe

a

Seaigel! 1 o5
TCQO; D_Q_U/O' AL (CLJ'E, 10—4—}.
y) 2000 590){;@@ moostophovuévny 45 Hueous mod Thg ANEews
mong 6%/ {Gm. 15)
‘oudg B

1.— Tooupdrioy mooeSophnthev 6 uivas mod thg MjEede Tou

ol ) :
7odg 6—"L/¢ Edwxev bpalosowy 2epreoudy 32,50. Iofd elval A VO On
R S i
s
. oput Tov dEla ;
Adois.

Kordzakis :

5)

Vs

100 dox. 12 uijvog 6—}* Doy

—

R e
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X (ox L RE0 R O 100 X2xe S2is
6 1 i3 13
b -

13000
i 1000 Hoy.

2.— Doaupdriov moosEo At 4 pfjvac w005 tiis MEedhe Tov OO
6%, %ot ElaPev & xoureths 784 puyude. Ioio 1 dvopaotuxy tou GEla:
(6. 800).

Adouc.
Etoloxw thy &nreouav vpuioesty v 100 ooy- 4 pmvay

100 8oy, 12 uives 6 dp.
TOOME 4 » REL

4 oy 6
= — =6 X — = — — 9 3
S X 3 3 dor
“Qote 1 mopoion aEla xovd Thy mooeEdpinaty t@y 100 doayudy
710 100—2=98 dpuyuai
@ote magoion Gila ¢ 98 doy. Gvouactu®y 100 doy.

» » 984 > » i »

134 392 39200

3.— Doaupdtiov Aiiyov wyyv 15my “Tovviow 1935 mosEnpindn -

15ny Maotiov i8iou grovg ug eEwteouniy Hpuioesty 12%; Swa 1164
doayudv. Iota fito T OvopaoTin tov GEfe ; (cm. 1200)-

4 — Doappdriov Aiyov perd 8 uivag, moosEmpheitat oM UEQOY
moos 10°%, xal 8(5e. gEwteounny doaipesty Hd dox, ola sival 1 dvo-
VOaTixy] Tov GElg (Gm. 810).

Bjterc vt

1.— Toaupdriov 8400 ooy Miyov v 5 Aereufoiov woocEwpifidn
v 5 “Tovkiov tob i6iou Evous ud tpalpeoy 280 doy. Idcov g &xa-
0V Eylvey 1 mwoosEdplnate - (Gre. 8%/,).

2.— Coapudzioy 400 b0y mooEwphiin 8 wijvae mod tiic AMiEedhe
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tov avti 380 doy. Ilodc mdooy toic Exatov Byivev N fEoTeoiry Tow
S et
VPUALOEOLS ; X (Gar. 1?01'103-

3.— Doapudriov moostwpltdn 3 uivag xal 10 fiudeae mpd  tiic
MEecic Tov avri 587,50 dooyudv xal Eyivev voalosoie gEwTeonn 12,50
doayudv. Moog molov Emitdxioy EYWeY 1) mEoetoplnaic : (drm. 7,50%,)-

4.— Toaupdriov 1200 dpayudy mposEwphidn 45 fuboac mpd
s AMiSes Tow et Emtsouy vpatoeoy 9,75 Souyutov. Ilode wdooy
T01g sroTov Eywvev 1 dopalossic ; ; (Gm. 6,50%).

5.— loapudrioy 4800 0oy Ehnye werd 2 Eom xal moosfwphidn
onueoov Gvil 3936 Souwyudv. Ilécoy tolc Eratov Eywev % mwooeEs-
Phoig ; \ 4 (Gm. 9%,).

Opac 6.

1.— Toapudriov 2800 Sgaygudy npoekweldn moog 99/, xai Fyi-
vey tpaiosais EEwteoun 92,50 Soayuiv. Merd nbcov Yoovoy #mye To
YouuudTLOY :

Adoc.

e o

= %4' X 8’375 = S%)- groug, Mot 2 umvee 15 fiuéoar.
8,75 |42
X 12 0 &n 2 uivec 15 fiu.
1750
875
UMNVES 105,00
21
> 30
nuéo. 630 ?
210
: 00
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9. — Toappdriov 7200 dpayudy mooeEw @i ue EEmTepLumy Vol
peawv 8%y nol Edwxev torodtmy 144 dpayudv. [Tod méoov (EOVOy TEO-
sLophidn t0 youundriov ; (Gm. 3 pivag).

3.— Tpaupndriov 1500 dpayudv mooeswphiin wpde 1,00%5 dvri
1468.75 Soayudyv pe FEmreouiy duipeoty. Merd ThGOV YOOVOV EATYE:

(Gm. 3 pfives 10 Nuéo).

4. — T oauudsiov 6000 Souyudv mooeEw@hidn woog 6y v L0nv
Maotiou 1935 dvii 5860 doayudv wue Ewreoraly vpalgeow. Ildve
Ehnye ; {(Gm. 4 pives 20 fugo),

5,— Coaupdriov moosEo@hidn woos 8,25 °/, avel 3411 90 douy,
Swne 58 Rewreowny vpalosoly 188,10 Soayudv. IIécov yoovay o0
e MiEedde tov moosEmgindn ; (Gx. 7 pive 18 fiw.).

6.—Tnv 15mv “Tovviov moosfowhidn &v yoauudriov 2400 douy.
Gvti 2386 dpayudv pt Emréxiov b f, Tlote EAnye ; .

(Gm. peror 45 fuéoag firor tEhoug ‘Toviov Edlov Erovg).

B’ EXQTEPIKHE YPAIPEZEQE

‘Op&g o

1. Toauudtiov 5200 Sooyudy Afiyov petd 8 pijvos, mOEEOMALTTAL
ahpepov uE Fomreouiy Voalgeoiy mpoe 6%,

@) II6on 7 Eoomtepuri] TOU Vepaloeois ; ﬁ

5 B) Iéom # mapoloa Tov dtia ;

Abous.
a) Etoloxo myv dvouastixiy dgtay Savelov 100 dpayudv 01" 8§
ufivac moos 6 “fy firou:
100 Spoy. 12 pfivee 6 doay. ) ) 3
Q)(,__,iln ¢ 2 opay Xsbxﬁ:7-=45@al.
100 2 B 2| T
”Aou i dvopactixt GEla davelov doagndy 100 80 8 wivag woog
69/, elvar 100+ 4 = 104 doay.
*Ray toTto 10 ddveloy Toosko@indi 8 uivas moo Tig MiEedhe Tov
mods 47, elvar paveody 6t Ha Exm Gpaioeoty 4 doay. OOTe:




dvou. Gtfw 104 dox. vowolo. e dox.
» » 5200 » > e

. 5200 5200 2600
= - =

“O8ev 7 mopovon GEla slvon 5200 — 900 = 5000 Spoyude.
AM& xal obwwe : Evpfoxetar 1 vooloedis tiov 100 dpy. 8 &
uivoc modg 6 °f, dmog Gvortéow, fitig elvan 4 doaxudv. "Encita :

<

dvop. GEle 104 doy. 1 mopoiow 100 doy.

» » 5200 » » X >
Sl SO0 : 1300, 6O
N R QO ok 100 x e
65000 A %
— T 5000 doy.

9. Tpoappdroy 2600 dooxpdv roostophelrar 18 fuoos oo
g MiEeds Tov pg Eomrepuiy Spatosow moog 4 o
a) [Méon Dpaigeoig Eywve ; #) Ilote fi mogotcn ToOV aEio 3
(G, 5 8p.), (&=. 2500 do.).
3.—oapudtiov dgoyudv 810 Aiyov petd 8 ufivag xal 10
fluépoc  moosto@heital chpepov  pe 2smTeonn v UPOIDEGLY To0C
1 S , S
. —2-—01{,. «) TIdon fi Bowvegwi T0v VQOlQEDIS
B) [don 7 mopobou TOU Gffer 7 (Gm. 10 dp.), (4m. 800 d0.).
4. —Toaupdriov 10750 Soayudv AMyov ueta L Erog xal B unves
rpoEEOmAETTaL GYUEQOV TOOG 59/, ut Fowveguilly bpaioeoiy. don
tatoeoig Ba yivn ; (Gr. 750 doyx.)-
5.—ITéom § onusoivl dle €vos yoappatiov 1081,50 dox. 0
Smotov Myer werd 4 piivag, xal 10U Smotov TO BmiTOnlov Sivol
99, ; (Gm. 1050).
. : X L L ; o
6.— “Edaveiody tic meog T —2“% die yooppatiov Mjyovsoc
petd 8 pivag. elg 1o 6molov gveyodon t0 mooov 2100 dpy. Iloiov
xeqéhatoy Edaveioth ; {Gm. 2000).

\
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‘Opag B

L—Toappdriov 2opindiyv 30 NUEQOS mod Ttijc MiEedbe tov i

Eomteouny Spaipssiy woog 9 Y/, Edwxev ﬁcpaigmw 16 doy. Hoia fito
9 dvonaotind dEla tow ;
Adoug ;
100 5 360 5 Y S
100 Qx 20 i X ox
20 8 2
X —C —_——— — . — == ! _ = »
) B4 360 9 36 o 5 5 2 Boay.

“Aoa dv Suvelay v 100 doy. Sie 80 fijw. 9 AU YOOURATLOY
dvouaotixiic GElac 102 dox. "Av 1o wooetophion 8¢ dudowe, Hrot 00
80 fuegdv, o @éon U@aigeowy Spay. 2.

“Oote Upaip. 2 doay. ovou. GEla 102
» » 16 > > » %

X=1o2x§ — 102 X 8 — 816 5oy,

2.—Toappdriov eEophndiv 6 pijvac mEo  tfig Mifedhc tou i
£0@TEDIKTY  DQaipesiy 7205 10 %, Enadey Soatgeowy 60,50 Spay.
Ilolov fito © moodv (dvou. dEla) tod yooumatioy -

(Gr. 1270,50).

3.—IIéowv Spaxudv slvon YOUUUATIOV mpoeEo@AnTey Ut Romre-

=k e i - S 1 R
euny veaioecy mods T — O 3ia 2800 dooy. 4 pivog TOO  THig Afj-
S, 2 !

Eeaic Tou ; (Ge. 2870),
‘Opag vy :
1.—Tgappdriov 1430 dpuy. mooeEopindiy 4 uivas mpo ThHg M-

Eeddc Tov pi Bowreouly Gpaloeowy Enadey &v Ao toiadtny Hb dgy.
Hoos wésov toig xardy SUVEQOVIIN oty ({ear S 280/

Adoic -

H nagoiica dEio 10D vooupatiov xavd v moosEdgincy siva
1480 — 55 = 1375 dpoy,.

P R 0 T

i

pa e b i




1800 g
W ouy. ‘“E wnv. X Qay.
= 100 12 100 8800 GO0
ST T e e
32
— 1248
}1 I /0

2.—Toappdriov 2419,20 Spay. npostointdey 24 Hufoac moo
tiic et tov ui Bowreoumdly Yoaipsoiy Emodev v dAw ToLoThY
19,20 doay. Mods méoov toic fxardy Eyivev vpaigeoig;  (Gm. 12 ;).

3.—Teaupdriov 2120 dooy. mooefwphiln 9 ufivag mod tic Ah-
Eeadg Tov dux 2000 douy. ut Rowreouxdy vgpaipowy. [Tpde moiov Amurd-
ALOV EYLvEY 1) Upalpesic (G 8940

4.—Tpopudrioy wooeEmphidn 2 uilvag xal 10 fuégag mod g
MiEedig tou dvil 540 dgoyudv el Eradev toaipeov Bowreguav 10,50
doouyudy’ wods molov Emitduov Eyivey 1 mooekdphnois :  (Rx. 10 e,

Ouag &,
1.—Toaupdriov 1530 Soayudy moostopreital mO Thg AEedc

Tok mpog B[, al Bidel Eawreounnv paipeoiy 30 Souyudv. ITdoov
, %006vov mood THg MiEedc tou mooetmpindy ¢

Adoec :

‘H nagoloa GEla 109 yoauuatiov sivar 1530 — 30 = 1500 8oy,

10_9_ Soas L #to i Soa

500 o e B epidony
: 100 30 1 15 I s et
S Em A e s

3 phvoc.,

2.—Dpoppctiov 3048 doayudv EEophdn oo e MEedig tou ug:
EcmTE XY VoalpecLy moog 8"/, xal Emade cuvokuhy Vgpoipeoy 48
douyudv. Ilécov yodvov moo t7¢ MiEeds tov BEw@hidn ; (Gr. 2 p, 12 7.)

3. —TITgoctwpMidn & youupdriov 4966.40 dooymdy mweoe 69,
v 10 Magtlou 1935 Gyl 4850 dooyudy uE vpoiosciy SowTEQIHTV.
Ilote Enye (6m=dny Ady. 1935)..
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Z'. MIPOBAHMATA MEPIZMOY

‘Opag '
1.—Bic gihdrrwyos Euoloace 260 dxdd. ahetpov elg tpeis oixo-
yevelag avaldyms v tévvoy tov. doug dxddag Exfloev Exdotn, Eav
f modtn elyev 6 thuvo, ¥ Sevrépa 8 wéxvo xal 1 toltm 10 wéwva ;
20 1
it 108—%— )

9
3

(Gr. o> 65, B, 86
Adoig.
Tlooodétew tovg penilovrag Gordupots” firol 6 - 8 1 10 = 24,

Meowsefoc aeud. 24 peotdov a’. 6

» » 260 » e
260 260 65 L%
A — 167X 94 = 4 — 1 == 6D ox.

“Ouolwg ebploxerar tig f’. xal v'. olxoyevelog.
2. —4 Fpydrou sloydodnoay elc Ev Epyov pe to (dov fpegopicdioy
& o' 9 fiuboac, 6 B’ 8 fufoag, 6 y' 6 Aubouc xal 6 " H zui Endknod-
oty hot pold 2240 doayuds. IMéoas doayuas da AdPn Exacvos;
(Gm. «” 720, B 640, v 480, & 400).
3. —3 xupoymyeis uetémegoy G0 To 1oy yoplov ele Adpioov 0
o« 280, 6 B’ 320, 6 ¥ 360 »otha olvov xal Eahnoddnoay paly 4800
Sooy. Tléoas dpay. 9a AdBn Exacrog ; (dn. o 1400, B* 1600, v’ 1800).
4.—4 wnvatodpor Evourtucov Ev Mpddov dud T wodfiotd twv
8950 Spagude’ £izov dhot Tow modBura, éfdoxmoay Suwe tol piv o
2mi 90 fuéoag, toi B &nl 80 fuépag, tob v’ il 65 fuépag xai vov 8
gm 40 fuépng. Moo da mhnodon Exastog ;
(Gm. ' 2700, B’ 2400, vy 1950, &' 1200).
H.—4 yrnvorodpor évourtacay v MBddiov dvri 18450 Spy. “Olav
t& mo6Pfora BPdoxnoay Bxl 4 ufjvae, GAL 6 «’ eiyev 150 mpdpara, 6
8” 200,.6 v 250, xal 6 & 300 npbfova. ITdca Ha nAnodon Exactos ;
(Gm. o 3075, B 4100, y’ 5125, §° 6150).

6,—3 Roydran Epéotmoay 3 Baydwa pE cdxxovs Evhaviodrov: 6

P
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! wevépepev 8D odwnous, 6 B 110, & y' 75 cdxxove Exhyodinoav
poll 135 dpoyuds. [Iéoas da Adbn EuuoToC |

(aﬁ.a‘42€§-ﬁ'5s,y'37%?).

Sradixm

.

|
7.—3 xhngovdpot ExAnQovouncay 360.000 doayuds
Goev : 6 B’ v AdBn durhdoia TP o wat 6 y' dumhdotn Gmo Foa 6 «
xal 6 B’ éon Ha Adfn & xabévac ; '
(Gm. o 40.000, B~80.000, ¥’ 240.000;.
8. —Na& usolodfi 6 Goduos 60 els ugon Gvdhoya t@v GoLdudy

=

3, 5, 1. : _ (&m. 12, 20, 28).
9 —Na peowodf 6 Gordpuos 360 eic uéon dvdhoya TOV oL udy
2, i)l (@r. 96, 120, 144).
10.—Na weptodf 6 Gowdude 180 sl uéen dvdhoya 1y Goriudy
4, 5, 6. (aw. 48, 60, T2).

11.—Avo cvveraipot Eafov &mo plav Rriyelonow 6 wdvia 4800
Soay., 6 0& B’ 7200 doay. Ot 810 pall eixov natoécel 24000 Souoy-
Il6oov slys ®oTadéosl ExacTog ; (Gm. 9.600, 14.400).

19.—3 guvetuiool Rlnwiddnoay &rd wiay Emyeionow 10.000 doy..
glpov Ot xavodécer O abtiv 6 o 20.000 doay., 6 B 86.000 douy.
wal & v 44.000 dpoyude. Ildan Inpio Gvadoyel el Exaotov 2

(Gm. o 2000, B’ 3600, v’ 4400).

L i \ 3 DR b Skt 2
18, —Na peowstf 6 Gorduos 60—11— eic uéom Gvdhoyo T@V Gouin@y

P4

1 1

10 1E 20 (. 13,2_‘ 202—‘ 27).

‘Qpoag B.

1.-—N& psgrodq & dorduog 120 &g udon dvdloya tdv dordudy
S8
T

Adog.

: S ! S e
[Moihanhoctafw, tovg wepLioviag ao1dpovs T 8 5 gmi TOV
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ooV, 24 Frol Emi 1o gldyiotoy xouydy moikanidoiov Tdv :mguvov
ootV altd otite S 2 EY OJLEY ;

3 A

A 2

= o

6 5

1 168 42
A e e e

Totovrotpdnwe EXOUEY VY ueoiome, whéoy oy aprudv 120 sic
uéon dvalova tHy axeoainv Gorudy 18, 20, 21

(6 3528 59, g _9 42 5(4;

2. %Nd peguodii 6 dotduds 60 ic nEoN  Avdhoya Ty c’zgn‘}ucﬁv
Iison 3 | e g
2 Aogr o e 73 g3 By

3.—Na peomdf 6 dotduos 130 &g péon Gvdhoya TGy a0 iy
D 6 ‘ : T
T o (G 32, 48, 50).

4.—Na ueoodi 6 dorduos 600 eic uéon aviloyo tdv Godudy
)
D= = AT, 7 :
= (Gr. 480, 72, 48)
‘Opcc vy
1.—Ng uegmﬁ'n 6 aoutudg 10130 eig uéon avdloya v Goud-
1 5
8—~, -
Ry 3 14

Adoic. ’

- Toénw tovg ueollovras pixtode doudpove eic #hdopare, #ro
1 17 2 32 3 73 h

@

Towevtctodnae nhéoy grouev vo ueolowpey tov govduov 10130




gic péon :i\'(ﬂ\oya TV ®AacpUTLY o

¢ dvotéom &v 1@ lo tic B’ dunddoc.

1732
3

49

73

o .
, —, tolto Ot
5

(4. 2550, 3200, 4380).

ALV OLEY

2.—Na peowodf 6 Gorduog 100 el péon dvdhoya tiv dGovdudv

5, 71— 6. (@ 2852, 40. 8155,
3.—Nd& peotodf 6 dorduog 1020 eic ufon davdloya t@v dordudy

5 2, 6“15, 05 (ér. 460, 520, 40).
4.—Na peowody 6 douduog 6560 elg uéon dvdlode oV GotdudY

2 T;— 6 xal 4,5. (G, 126, 300, 225).
‘Opaxg &' v

3. 3 foydrar Ehafov Oid play Epyuclov 1200 BSeayumde. ‘O o
gigydodn Enl D Nuépas 8 Moug xad éxdowyv’ 6 B Eml 4 fuépac 9
@pag el Exdotny xal 6 yv° Emi 7 fuéoag T Moo xad’ Exdornv. II6-
oog Opoyuas o Adfy 6 xadelc ;

Adcug.

Awa v Adfp 10 avahoyoiv els adrdv xépdog & t@v 1200 Souy-
uv sipydothy :

6 o 8 dpug X b fuéooe = 40 dpuc.
DHLEEORE SRS S =5l
S T Sl S = )

“Qove noveAfEauey va usolomusy tov dptduov 1200 eic péom Gvd-

loya t@dv dovdpudy 40, 36, 49. Tolivo xduvousy mhéov Gg 8v 1 le

Cn s iy
H 5]

g o duddog.

2.—3 wwmvoredgor Bvowlacov Eva MBddt i o modBard Twv
22300 dpuymag ue vy ovugovioy va minodooty 6 xadsic avaldymg
tiv mwoofdrov tou xul Tol yodvou mov B Boouficouy taiive -

0 o Epdounocey 950 mpdBota Enl 4 pfivag

» B > 050 B3

» oy . 840 B
KQN. 3. EQNITANTA, MoofMfuara 1" Appor., &8, I".

> B4

> » >
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ITéoa o mlnodoy 6 nodeic : {ar. 7600, 6300, 8400).
3. —3 nopoaywyels HeTE@EQOY TOV oltov £voc curepmdoou Lour-
®dhov Grd ywold, T 6role areizov Gmo ta Tolwola odygl tiyv uumv

3

AEOGTUGLY :

c 3 % 5

0 o' uetégepsy 400 nohd o dmdoraciy D wikiow.

» [ » Al [ ) » Rix ip
» » 640 » » » IO

jEﬂ:?\nQoﬁﬁncuv ot 3 uoli 1200 doaypds. [Iéoa d¢ hify 6 radeic :
(azm. 200, 360, 640).

H' TIPOBAHMATA ETAIPEIAZ

@lixe .
1.—3 cuveraigol nutéfulov cvyyodvmos dig piay Exixeionowy £xo-
orog amo 300 dooyuds. Mewd 2 s:n] ebpov wépdog 12 000 doayude.
Il6oac #hafgv Eraaros : (ém. 4000).
2. —3 Eoydrou Oux thjv Extédecty Evog Eayou Emhnodimeay v g
960 Spaynog sioydodnray xal of 3 tds uitos fUégus xul dooe xad’
gwdomy. [doa da hdfy Exaocrog; (ém. 320).
3.—4 zivorobpor Evouwiocay Eva MBddu 28,500 doayuie Sud T
moofatd Ty Efdornoav Sha Exl 90 fuépuc xul sixov tdv adtdv dot-
Yuov moofdrav. [Tdca Exhiomaev 6 xatleis; (Gm. 7125).

iOeie Bl ’

1.—Advo Eumopor Exapay piov Emyeionowy xal xetéfalov d1° adrny
guyyedvog 6 n* 15,000 doayude, 6 5 B° 20,000 Souyuds. “Axd v
gniyelonowy abv elpov xépdoc 14.000 Soaypds. Ildoug S Adfy 6
nadels (ax. 6,000, 3000j.

Adoig.

“Ouot rarédecav 15.000-+-20.000=35.000 Spoy.

Meouotéos dorduog 35,000 <0 pepldiov o 1500 B* 20.000

S » 14,000 » » X X

0
ol X 500 S ,1:‘) 088 1500 >< _3000 X 1,?:3000}(2:6000
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: 14.000 14 14
= QOOOOXW—QOOOO S 5 —4000 X 7_400(»(2—8000
2. —3 umopou Eropuy £ 2umdoiov nal karédalov EE doxiic méou
wéhoue 6 o 250.000 Spuyuds, 6 B 180,000 doayuie xoi 6 ¢ 320.000
Dooyuds. Eic 1o téhog efioov #éodog 240.000 doayude. Ildcug dooyuag
Sa MdBy 6 xadelg and o néodos;  (&m. 80000, 57.000, 102.400).
3.—3 cuvetaiool xotéBokov Sio play Emygstonawy ovyxodvos 6 o
10,000 doay., 6 8 15.000 doay., 6 y° 25.000 douy. *Amo wyv &miyel-
onow Exéodyoay 20,000 dpuy. [Tdcov xépdoc Hau Adfy 6 radeic ;
{Ax. 4000, 6000, 1000).
4. - 3 Bumwopor xaréBakov Sud wloy Emxelonow: 6 a’ 200,000 doy.
& B’ 150.000 doay. »ai 6 ¥* 100.000 doay., cuvepwvidn 6 o’ va hdfn
G o xéodn 20,/° neowwobregov. To xéedn foav 270,000 doayuat.
Iléce 8¢ hdPy 6 xadévac; (dm. a’ 150.000, f° 72.000. y* 48.000).
5 —3 cuveratool xurédecoy dud plov Emyelonow 480.000 doex.

1 il ;

wat 6 piv o T0 — adtv, 6 B 1o 5 xal 6y 1o vndlowmov. TEx thg
Brueiofiorws Skéodnony 84,000 doayuds. [ldoov »égdog Ba AdBy 6
RO 0 ; {dr. 42.000, 280.000, 14.000).

6. —3 auveraioot xuvédecov Bia wiov Emuysionow 25.000 dpoy.
& waedele, GAN 6 o' wie wavédessv £5-dGoyde, 6 B peva 8 pfivac wot 6
v perd 6 wivoc anod v xasdieow 1ol B7, 10 68 ufjvag weva Ty no-
wddeor tod y' evoov xéodog 20,000 Spaxuds. Ildcov xépdos EluPev
o nodeic; (am. 9600, 6400, 4000).
7.—3 wrnvorodmpot Evowricony va APddt 81 Eva Erog nal Emki-
owoav 45000 8oy 6 o' Edounoe ta modPutd tov Exi 5O fuégug 6 B
gml 3 unvag »al 10 fuégog xol 6 y° 2 wivag xal 15 duépus. Ildoa
gmhhomoe 0 xadévog ; (Gm, 10000, 20.000, 15.000).
8. —4 Epydtul Foropov wlov duxehov xal Ehafov BE00 doaxuds.,
& o slovdotn 8 fiufodue, 6 B 12 fiuéoae, 6 v° 16 fuous zai 6 &' 20
fiuéooe, [ldoue S Adfn 6 nadelc; (Gm. 800, 1200, 1600, 2000).
9. —"Buopds tic muoyelicus muooy®oel el tovs [daveistde tov
v meotoveioy tou fx 40.000 Spox. yosworel 8¢ eig wov ¢ 20.000
dooy., &g vov B’ 30.000 doy. xat els wov vy 50.0J0 dguy. Ildoag da
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Adfin Exactog t@v davelstdv Ex Tiic meptovsiog Tob TTOYEVGAVTOL
EuTé0OU ; (6. 8000, 12.000, 20.000).
10. —"Eumogde tic »utéBoure Sid piay emigefonow 2000 Spay.:
wera 1 Erog mpooélafls cuveraigov, ot xatéBake 2000 “Dpay.
4 piivog pete tolite mpoofhafe xai y', §otic xatéBakev exlone 2000
doay. Mera 2 &n and tiic BvdpEeme thic Emuyelpfoemg e0oédn #éodog
9900 doax. [Méoac Ja AdPy 6 nordelg : {(g. 5400, 2700, 1800).
11.—3 ovvetaigor Enuddncay #x pidg dmueloficeme 10.000
doay . elye 8% xotadéoer 8° adthv 6 piv o’ 20.000 doy., 6 B 18.000
doay. »at 6 ¥ 12.000 doy. [Iéon Tnula GvudoysT eic Exactoy ;
‘ (G. 4000, 3.600, 2400),
12.—Toels Bumogor Exéodnoay Bx uidg Emiyepfioems 4000 Spry,
gz 1dv 6molwv Ehofev 6 o’ 1500 dpay., 6 B° 1200 Soy. i 6 y' véc
vmodofrovs eTyov &2 xarafdler 6pov 14,400 dpay. nal Euewvay td ue-
@dAaie xol TV Toldv an’ doylig uéxor téhove Tig émiyelofoews. Tloiov

1T0 10 xepdhoiov Exdotou ; - (6. 5400, 4320, 4680).
Adaig,
»Epbog 4000 Soy. xewdd. 14400 dpy.
tob e’ » 1500 » » X »
0 1500 1y 3 _ 43200
X=14400 2000 =14400 X 40—14400 D o 3 = 5400

‘Opoilmg ebploroviar xai T xe@dhawa 1@y Gy,

13.—Toele Eumogot Exapay Erougeioy xal noréfadlov 6 o 6000
doy. 6 B 4000 Spy. xai 6 v’ 3500 dpoyudg’ Brov 82 Euopdodmony o
xé00n, Ehaflev 6 o’ 600 Soy. IMéoac Ehaflev 6 B’ ; Mdoac 6 v :

{cm. 400-350).

14.—Ado cvvéraigowatépatoy sic ploy Emiyelonow 300,000 8oy,
xal exépdnoav 90000 Spy. 6 B’ éhafe 18000 Bouyudg dhiydzepoy.
éoug Soaypas eiye xaraBdher 6 nodévac;  (dr. 180.000, 120000).

- 15.—Ado svveraipor xaréfatov sic uiay éniyeipnow 880,000 doy.
xol Exépdnoay 220,000 Spayude & o elye xaraBdler 80.000 Souyxudc.
wegLoootépus. Ildou #épdn Fhafey 6 nadévas; (an. 120.000, 100,000)

16.—Toei; Zumognt eig 10 téhog midc Emuyelpiorws ebpov uéodos

c

770 Spoypde 6 o ehafe 200 dgay., 6 B’ 250 dox. mal 6 v’ tdc Ymo-
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Aolmovs, Sorie elye xorofdher 1600 dpax. Mbon elye xatafdler 6 a;
Iéca 6 B’ ; g (Gm. 1000, 1250).
17.—Avo cuveraigot xovédecav S ulov Emgyelonow 30.000
Soayude EhaBov uépdog &x taveng, 6 a’ 3000 Soy. xal 6 §° 7000 dox.
Tldcov siye xatadécel 6 radels : (&r. 16,000, 14,000).
18. Tosic #umogor &xéodmoav 32.550 Spayuds vag Omolog Euol-
poGoV ToLouToTEGKwe, Mate 6 o EhaBe 5%/, meoiocotépug tol B O B
109/, meolocoréoug tov v . [Tdoa Elafev 6 nouveis |
(Gr. 11.550—11.000—10.000).
19.—3 Eumogor xépdncay and ulov Emiyelonow 60,000 Soayuds:
perd Ty duchucty EaBev 6 o xepdhatov xal xgpdos 80.000 dgyuds,
3 B’ 70,000 doy. xepdiaiov ol wéedog wal 6 vy  50.000 doyx. Emione
®e@alolov xal xéudog. '
a’) ITolov 7vo 10 ®e@dAdiov EXACTOU |
(&n._,\a’-SGOOO, (7 49000, ¥ 35,000).
8') Iéoov néodog Ehafsv 6 xadévac ; §
(@m. o’ 24,000, f° 21,000, y* 15.000).
‘Ouaxg y'.
1.—Eic Enmopos floyxioe piov Enixstonow pe 15,000 doy. Mera
8 pivae moocéhafe xal ouvétaigov, dovig natéfakey 10.000 dgaypds..
wetd 6 puhvac moocéhafe nal tolvov, dotig xaréfatev 30.000 doaymds.
8 ufjvae petd tadra 0oy »épdog 34.000 dpy. Méow da Adfn &€ avtav
5 noveic g
Avous.

A va AdBy 10 é@vahoyolv eig avrtdv #épdog Ex td@v 34.000 doay.
#epd@v notéfaley :

6 o 15000 bdoay, 2Enxt 20 pfvas
6 B 10.000 » ikl »
6 vy 30.000 » » S >

*Av Hi%eke td néodog volito Exacrog va 0 AdPn eis 1 pijva, Enpeme
Wi wazefdiy

§ o 15.000 X 20=300.000 dooy.
5 B’ 10.000 X 14=140.000  »
§ v 80.000% 8=2940000 >
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“Hdm xareliiSapev el 10 vd peoloopey ta #éodn 34.000 Souyudc
elc péon dvdhoya v covtudy 300.000, 140.000, 240.000 Srep lvor
YV @OTGY. (Gre 15.000, 7000, 12.000).

2.—ETc Bumopos Hoyoev wlav Enyeionow ué 120 000 Spayude.
uete 5 ufjvas Exfjos cuvetaioov, 6 6molog xavéfakev 150,000 Soayude.
10 8¢ ufvag Horepa Srahicaves v Emyslonoiv etooyv xépdog 66.0007
doay. Idcag Spayude Gro to #épdog 86 Adfn 6 nadeic ;

(Gm. 36.000, 30.000)
3.—Elz #gunogoe floyioey v dundpiov pé 50.000 Spaymds xal
Uorrpe Gmo 4 pfivae woocéhafe nal cuvetuioov, 6 OmOL0C nowéfulhey
30000 &ony, nol Uovepo amxod dihovg B ufWac moooéhaPe xal dhhov Gu-
vetaipov, 6 omoloc xaréfakey 20000 dpay. Meva 2 & dno thic 8vdo-
Eewc tol Eumoofov efigov répdog 42000 doay. IMéoov #épdoc Ha AdBp
0 nadeic ; (Gm. 24000, 12000, 6000).

4.— Eic dumopog foytoe ulav Envgelonowy pé 80.000 doay. ustd:
5 ufivas moooéhafle xal cuveraipov Boric natéBake 120.000 douy. Merd
10 pfjvag d@” drov Hoyioey f Emuyelomoig alpoy xéedog 70000 Spay.

Ilésov #éodos Ba APy 6 radévae;
(am. 40000, 30000).

3 s

5.— Ado ropaywyeis perépspov oitoy Evdg-Eumdooy ol ExAnod--
dnoav pali 8000 dpayude 0 o puerédpepe 20000 onddug Gro Gmdoro-
owv 10 yiheop., 6 6¢ B° 15000 onddug elg dndoracwy 8 pihwop. [Hico
Ba Adfn 6 xodele amo zag 8000 ;

(ém. 5000, 3000).

6.— Toels qualnrdror uetépegov oitov Evoc Eundoou xal Emhn--
pddnoay uall 2400 Somyuds’ 6 o urtépeos 1200 dx. dnd dndoraciv:
5 yihwowp., 6 B° 1500 ox. EE dmoctdoemw: 8 yhwop, xal 6 v’ 2000 6x.

gE Gmootdoemg 15 whop. IIdsa Ha Adfn 6 xadelis;
(ar. 300, 600, 1500)

T.— Toeig Zoydror Aredeimoav &v Eoyov woll xai Exlnoddnoay
5100 doayuds, 6 o eloydodn énl 5 fiudoag, 8 doug v fuéoav, 6 B

A ' ]‘ o A & 7 A c / a3 . r - </
i 8 fuépac 7-; woug v Ruecay xai 0 v Eal~10 fuéoug, 7 Gooc.

&y

iy fpéoav. [dous Spoygudas S AdPy 6 nadelc :
(am. 1200; 1800, 2100).
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8.—Avo 2oydtaw BEevéhecav Ev Eoyov' 6 o gloydodn Enl 12 Hué
oac B doag v Auéoav, & B’ Enl 15 fuéoac 8 doog v Huéoay,
inhnoddnooy B8 B w0 Eoyov poll 13500 doay. Ildoov ¥a Adpn
EXAGTOG ; (. 4500, 9000).
9.— “Eumopdg tic 1joxLoev EmiyelonoLy wnozaBokav 12000 dooy.
Meta 1 Eroc mooofhaBe cuvetaigov, Gotls xoréPohe 10000 doay., 2 gtm
petd taiite 6 o woréBake mdiw 5000 Soay. 2 &t petd toive dishidn
f ‘Eraupio xal eboédn xéodog 55000 doay. [Mécov B AdPy Eroctos ;
(am. 35000, 20000).
10v—Toslc cuveraigol ratédecav did uiay Briyetonow 6 a’ 10000
Souy., 6 B’ 8000 deay. xal & y* 6000 douy. Tod o t6 yoNnoto EREL-
vav eic T 2nigelpnow 1 Erog, tob B 2 Em wod 700 v 4 Em. "Ex wig
2miyetoticeme Enuiddnoay 20000 doax. [Téomy Tnuiay §a minedon 6
wondels ; (6. 4000, 6400, 9600).

e’ HPQBAHMATA ANAMIZEQZ KAI KPAMATQN

ACHELS oiuic:

‘Opag o

1.— Téoov xootiler §i dxé tof uiymatog mov yiverar Gmo B0 on.
xoaol tdv 12 dpay. xal 30 3x. nouol tdv 10 dooy. %ol 10 o XOUGL

. tv 9 dpoyuddw ; (G, 11).

Adais.
AS B0 dx. xootifony 123¢H0=600 dpoy.
Salll sy s HOE30=3800=>
» 10 » » Opl0—=NS G
» 90 » » 990 »
AL 90 3. tob uly. mootiCouv 990 dox.

[ » X >

1 6e0 9

X=990 >< {]O = -—9-6— = —5211 5@7(0

9 —Tlécov xoosiley 7y dxd xadevdg Gmd Td xaTOTELW Miypote nou

YIVOVTOL ;
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a) *And 50 8x. Bourdpou v@v 80 Spoy. 40 d3x. Bovrdpov thv 15

dpog. mai 10 éx. Aimoue tdv 40 dooay. : (Gm. T4).
B) "Amd T50 8x. xouct tidv 10 Say., 200 Hx. #puoi tdv 8,50

dpay. xot B0 dx. vapd (ar. 9,20).
v) "Ano 250 éx. GAeboov téwv 8 doay., 100 8x. dhevdpov v 9

doay. =ai 150 dx. Ghevpov oy 10 dpayu@y ; (ar. 8,80).

3.—"Evag owtéunopog GvéuiEe 2500 dx. olrov t@y S doy. pé 1000
Ox. aitov 1Gv 7 Sop. xal 1500 &x. dhov olrou v 6 oy, Ilota 5
TN 10 ulypuros ; o (Gm. 7,20),

Opag B |

1.—ET%; yovooydoc Enke pali 2 mhdxss Goydoou” 1 o’ ECuyile 50
YouHudola ol eiys tithov (fvor Bududy rattandintog) 0,750, 1 [’ 82
&loyitev 75 youupdoe xol elye wivhov 0,825. IToioc eival § tithog ot
®OAUATOG ;

Avoig,

“H o’ nhdE, fivor 6 50 youu. ¥ouv tith. 0,750 X 50 — 37,500
BBE S SRR SNTB s » » 0,825 X 75 = 61,875

xot g 125 » » » 99,375
“Agol 8t 1a 125 ypapudow gxouv  tithov 90315
1 » » » X
L A 2 il . 99,875 19,875 A
TR e e e
975
SR A

2.—Xovooydos Emke toia &ldn yovool: voT o o Bdoog fro 30
Yoaup. xai 6 tithog 0,850 wof B’ 10 Bdpoc firo 5O yooupr. ol 6 wi-
thos 0,800 xal tod v’ 10 fdpoc fro 20 Yooup, %ai 6 sithoz 0,750.
ITotoc elvar 8 tithos 10T *OARATOS ; (cm. 0,805).

3.—Xovooydoc Exaue xpdua 2E Evis GoyYpov Pdoovs 15 Spaulmy
xal tivhov 0,850, 8 dhhou doyboou Bdoovs 20 doaulwy xal <ithou
0,825 xai 8x 15 dpaunimy yodrod. Iotog sivar 6 tithos xpdpatoc :

(am. 0,685),
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4.—“Eva Boaxtdh Eywve dno 60 yoouudoa xalapol xovood xal
20 youuudowr xahxod. [lotog 6 xithog Tob reduavos; (4m. 0,750).

QMG Y. :

1. Oivondne avéwEev o) 100 éx. oivomvelpazog tiv 719,
B8) 90 bx. dMou vivomvetpavog tdv 65° xal y') 60 dx. dhbov oivo-
avetpatos swv H5 O Tldcov Bududv wiyie Exoue ; (am. 65°).

9. —AvéuiEé tic o) 120 dx, oivonvedpatos tdv 6Q° B’) 100 ox.
otvonvetiatoe t@v 530 xal 30 ox. Udatog. Ildowv Podpdv uiyue
FhapEy ; (Gm. 50%).

3.—"Eva uiyue oivomvedpotog Eywvev Gmo 60 on xoduood oive-
myvetinatoe xol 40 dx. #hhov oivomveluatog tdv B0 nai 25 ox. Hdurog.
Iotoc cival 6 Paduog T0T UlypGTos ; (Gm. 64°).

‘Opag o'.

1.—Bic novromding avéwitey 150 ox. Ehafon tdv 35 dox. noi
100 dx. hatov vév 40 Spy. Ilcov moémel va mwliion Thy OxGv TOU
alyporog Bia va xeodioy 207 Enl tiig dElag tob ghaiovu ;

Adoug. *

Af 150 ax. &hafov atilouw 35 X 150 = 5250
» 100 » » » 40 < 100 = 4000
» 250 » wol ulym. » 9250

Edoloxw 71dn v0 »épdog 10l piypatos :
100 Boy. 20 dpy. ®€pdog
9250 by Sl

9250 25
xm x By 2

“Qote af 250 ax. tol ulyuarog mpémer v mointoiv :
Gtlo v 9250
nal uégdog - 1850
11100
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“Obev moéner va moAndodv of 250 ox. 11100

el X
i 111000 110" " 222
K 00O oS o e e e e

2.— Avépita 20 onddeg wpaol tédv 7,50 Soy. xui 30 dx. dhlow
zoy 10 doy. [lpdoov mpémel vo mwAfcw wnv oxdy 1ol piywoe dud vé
#epdiow 20 °/y Exi 1fig dElug Tov ! (Gm. 10,80).

3.— AvéwEo 25 ow. xapé, tot Omoiov 1 oxd aEiler 80 Sox. xui
15 dn. dAhov nogé, 1ol omoiov % oxd xootiler 70 Bpy. #al 10 oxdd.
dAhov 1ol Gnolov xootiler i oxd 1D doy. I1doug doy. moémer va awAd
Ty Oxdv tol piyporos dud va xepdiow 15°/, ; (Gm. 87,40).

4. —“Evag otvording avéuite 350 dx. olvov tamv 9,60 doy. fi ond,
400 on. érhov olvou tvév 8 Boy. xat 50 éx, Udwrog : ;

a) I1dcov GEileL i Oxd ol piypotog ; (G, 8.20).

B) Mécov moémer va amAf thy oxdy avrod Ouct va zeodfan 80 Ae-
TG TNV OXGY ; (4m. 9)

{@]iteds =i,

1.—Oitvondhng dvépite 250 dx. xpaot tdv 10 Soy. ué 30 dxddec
Ddarog xal Endinoe thy oxdy 100 piyuarog 9,50 dpuyuiz. [Técov Toic
Exatov Enfpdmoe ;

Avcus.

Af 250 6x%. oivov dEifovv 10 X 250 = 2500.

AT (250 - 30) = 280 6x. ol pivuaros gEilouvv 9,50 X 280 —
2660 dpy.

“Apa &z thg. GElac tol piypuroc 2500 Boy. Eromsv #fpdoc
2660—2500 = 160 doy. :

5 2500 bpy. #fodog 160

Wone ——= A

T (@ 5 »e X dor.

it 1000 1550 160 L ai B9 NN
Ao K amee = 00 e e

2.— Avepiyinouv 60 dx. ydha, 1ol Smolov 7 6nd Erindro 8 Spy.

i

pé 100 6x. ydha, tof 6molov 7 dxa Evwudvo 8,20 doy. ; ué 30 é%. ydAa: -
i

!
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0¥ Gmolou fi oxd Euipdro 10 doy. xci 10 ox. vepd® f oxd Ot ol wiy-
patog anwhidn wodg 10 dp. [Idcov Exépdnoey 2l Tolz Sxaréy ; (Gm. 25°/).

3.— Oivondhrg Eoonpe ot 1000 dx. oivov tdv 12 dox. M Ond xot
20/, yead. Méoov tov grouile 1 dnd 100 plyuarog ; (Gm. 10).

4, — AvéwEa 20 dx. xo@e t@v 1T dox., ue 15 dx. »noags v 84
doy. mol pE 25 on. xops tdv 88 Sox. ‘H dxd tod miyparog Emolidn
100 Soy. [lécov tolg Eratdv Enéodnoa 2l toic GElug 10U HUQE ;

(dm. 20 °fp). -

B R oiofUi e

‘Ouag o'

1. —Oéhouey va avanEousy 450 drddeg woool t@v 8,40 Boy. us
&Mo wav 7,50 doy., Gote 1 Oxd Tol wiyuotog v& xootily 8 doy. I6-
oag Oxddag 9a AdPwuev Ex tod [ eldovg ;

Adois.
1 8%, 1ot o’ eldovc £lg 1O WUiywo xover 0,40 doay.
S R R e s e O sl 50 >

OIRR S R TR e T ydvouv 0540 > 10,505 >
040 » » B 3 » » » xepdilouv 0,50 X 0,40 »
“Qorte eig piypa 0,90 dx. fi oxa crowiler 8 dox. ywolg Cnplav %
wéodog, Gnéts Eyopev 0,60 dx. 1ol o xot 0,40 ox. tov B
“Ogre: Grav sxouey 0,50 d%. o, & 100 B’ Exousv_O,_4_0_ox,

> » > GO S R » B »

s 450 90 9
}X—OAOXW—O'%OXW_OAOX e
S0 RR0E 5

= m— = l = 360 Ox.

9 — Tldoag dnddug Aimog, tab Gmofov i Ona TipdraL 30 Soayndg
S0 avaplEwuey us 374 9x. nadagol Boutigou, tol 6molou N Oxd ®o-
ovilel T2 Spuy. -dud Vi HOp@UEV WIYHE, toU Gmolov 1) OxG VO TiMdTON

.. B8 dpdyudc ; (Gm. 187).

3.— Sitéumopog e ddo £1dn olrov” TOU o % owd GEiCer 6,20
Sooy., 1o B 7,40 Sox. »al Véher va nduy Wiypo 2t avrdv, 10T Grolow
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A 6xé v' GE{Cn 6,50 dooy., va hdBy St Bx tol B’ £t8oug 1200 8x. TI6-
oug moémer vie Adfy 8x tod a’ eldous: (Gm. 3600),
4. —TIldoag dxddag xame tdv 72 Soay. moéne v& avauiEouey ps
60 ox. xagt wdv 80 dpuyudv Sid vo xdpopev uiyna, tob Gmolov 4
oxd vo xootily 75 Spayuds ; (ax. 100).
5. —IT6oag dxddug Hdatog & Gvupitousy ué 320 %, ®OAoLOT TOV
.60 douy. dud va xdpopey uivuo wdv 6.40 doay. ; (4w, 60 dx.).

‘Oucg B’

1. —Xovooxboc ouvérnEev 75 yoaupdoia xougod, tithou 0,900 xol
20AxOv xal Exape xoGpa tivhov 0.750. Méca youpudouy xohxol Ehafe ;

Aboec.
1 yoau. yovoot el 1o xpduo ydver 0,150 Paduoie
1  » yoalxot » » »  xepdilel 0,750 »

0,750  » youvcot » » »  ydvouy 0,150 0,750 »

0,150 » yodwoT » » »  xepdiouv 0,750 0,150 »

“Qote elg xodua (0,750-1-0,150)= 0,900 yooppooiny Exouey
0,750 yoaupdoia yoveod xal 0,150 yoaupdoia xahxobt, 6 & tithog
zov elvar 0,750 Badpol.

“Qore -
drav Exopev 0,750 yoouu. yovool Héhouev 0,150 YOORU. yoixod
» » 75 » » »i% N » »
=100 05]0) 5 i =0, 115{0) 53¢ i = 15 ypaupdoio gaixod.
; 0,750 / 0,150

2. —Ildoa youpudoir yoveod, tithou 0,7400 xpémer vo, cuvTHEm-
uev ue 64 yooupdoux xovood tivhov 0,9700 dud va xduouey Sva Boa-
yéht tithov 0,900 ; (am. 28 yoau.).

3.— Ilécov xadapdv dpoyvooy moémel v’ avautimuey ué 78 youu-
udote aoyvgou tithev 0,900° d16 vir nduwpev xodGue tithou 0,9759.

*  (Gm. 234).
4.—O¢lopey va xdpwpev Eva Booyiéhe Grd 40 yoaupdota xoucdv

virhou 0,950 xai gakudv, Gote 6 tlthos 100 xodpatoe va eivar 0.800.

(@, 'Zi)

Téoov yahvov 96 AdBwpey : )
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‘Opag v

1.—Ofkopsy v' Gvapifouev 100 ox. oivémvevpa 829 ut dhho 65°
aal ve xduopey piyue 700, TI6ous dxdBag da Adfwuev 2w vov B ol-
VOIVEULATOG ; * (G, 240).

9 — @fhousy eic 120 &x. olvomveldpatog tdv 280 vo plpopey

6w did va yivy niypa 210, Iéoag dxddug Vdutog Ja ol wpey ;
(am. 40).

‘Ouag &',

1. — H éxé vob olvou otowilst 8 Soaxuds, €vog OF d\ov 10 dp.
Il6cec Oxddeg vob B’ etdovs & avaplEwpey e 800 ox. 1ol o dore va
otowyily § oxd tob plypatog 10.50 dpayuds ue xéodog 25°/,.

Avaus.

Edploxopev to wégdog tiig ondg t@v oilveov mpos 25°%, dv éxw-
Aotvro yweiord @g &g s

100 Gpy. 25 dpay. népdog
Sl e s »
8 8
X=X — = —
ST
xépdoz Vo Emwheito Winiréomg 8 - 2 = 10 dpoyuds.

— 2 doyx. "Apo 1| oxG toba’ olvoups T

100 Boay. _2_5’ dooy. ®épdog .

f) 10 » XU »
10 it 1 5
B — = B
256 X 100 O 10 5 X 5 5 2 50 doay.

“Apon i éxi tob B olvov B¢ Emmleivo idioutéomg we th xnépdoc
10 - 2,50 = 12,50 Sooy.
“Ofev: 1 dx. w00 o’ oo piywe xeoditer  0,50780my.
i R s 2 »
S D »  wepdiCovv 0,50 X 2 dpey.
(Oa(El s e s »  ydvouy (0 O

“Odey S wiyue 2 4 0,50 = 2,50 ox. mpsnel vo TdOWUEY 2 OR.-
2x tol o xal 0,50 ox. & ot B’ olvov.
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“Ofey . B G G, 0,50 &x. B
800 » » X » »
X — 050X 22 _ 0,50 X 400 = 200 ox. B
Znusioois. : 7

Avvduedo va wi) slowuey tog tinde Ty dUo ed@V Ty olvov
uerd 100 xépdovg 25 Y/, aMd va Slatnoticwuey adtde dvev atitod, Fav
dpuipéswuey xal dno Ty TNy Tiig dude 00 uiyuatog 10,50 doay. 1o
#éodog 25 [y, Hirow 2,10a80uy., Bt afin da elvon 8,40 dpayude.

2. —Iavromwhng Fékew va olim eig 220 oxddog olvov v 10
dpoyudy $Bwo xul v nwhf v dxdyv tob wiypatoe 11 Boay. xoi vo
xepdlon 15°%,. [dcov dwo mpémer va plym ; (dm. 10 dx.).

3.—Iléoag Ox. xaqé tav 68 Soayudv O Gvouitouey ut 72 dnd-
dug dihov xope tdv 62 doayudv iva xdu@uey piype t0d Grofov 1
dud ue xépdog 20 %, va mwhijver 79,20 Souyudc : - (Gm. 144).

IR fiaioric:
TOiedy

1.—"Eyw d00 18 oltov’ 00 o' § dad croyiCer 6,20 duay. ot
B° 7,60 doay.” Héhw 2 adtdv va xdum uiywe 420 oxddwv, Tol Grolov

«

7 Oxd va orouyiln 6,80 douy. [boug Oxtiduc mpémer va TUp®w  Gro

Adouc
Bv @ ulyrott tob o eldoue 1 Ox. xepdiCee 0,60 doy. |
» » » A 1 » ydves 0,80 » |

S » SR 0,80 » wxepdifouv 0,60 X 0,80 »
> . » » St B 0,60 » ygdvovv 0,80 X 0,60
“Qote pé 0,80 6x. 10 o’ xal 0,60 wob B, xduve pivua 1,40 3x.,

<oU Gmolol f) dxd aElC= 6,30 dpoyude.

¥

“Qore:  Bic hiype 1400 04 o 0800 G vop ol

» » 420 X Dy
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420 42
X=080X 140 _:O’SOX 0,14 — Uil 007
2.40 240 {
p— == e e S = }_) j'.
— 0,80 X 51 01 — ; 40 8%
Bic uiyua 1,40 8. elvar 1,60 on. ot [’
» > 490 > » N I )
X = 0,60 0y gy
— 0,60 X 1 40 i 014 0.07
2 1580 130

R 180 &x. &x tol B'.

9 —Tlcoc drddug 9& Adfn Evog mavvomding &md Eva Addy, Tov
grolyiler 7 ond tou 40 dpoy. mal mOoOS Gmd Eva dhho s1doc mov i Ond
Tou crowyiCer 34 douy. dud va xdun wiyna 600 o oL 1) Ond TOU V&
srowitn 38 dpuyuds ; : (Gm. 400, 200).

3.— Ildoag oxddag dd ndow Gmd £va Bolrvpov mobd 1 Oxd ¥ov
ovowiler 80 Soay. xal wdoug drddug Aimovs, mov 1 Oxd Tou otouile
30 doay., did va xduw piype 240 Ox., mwov ¥ oxd v otowiln 65
dooyuds ; (Gm. 168, 72).
Fhetoou #x TV Hmotoy Toll o T dnd oot
wiCer 8,50 Sooy., tob 8¢ B’ 7,30 doay. wol Exaupn wiypo 60 dx. Tov
Smotou % dxd crowyiler 8 doay. Iléoas dxddag dheloov Emiioa G
welite €1005 ; {Gm. 8D, 25).

5, —TITdcog Hxdd g *,fr:?rwrm ot fimofov f ond G8iCer 10,20 doay.
Xal wooug Onddag veod moémer v dvauniEmusy 6{(: Vi i eV ALY ICE

s O’GQ G0l 001

4 . 4
A0 —= dx. toD 6motou T oxd va otougily 8,60 doy.:  (Gm. 34, 6

5 5} )
6. —Tlbone drdduc xape t@v 34 doayudv xal ndoug @y 10 doay.
97 GvaplEouey dud va rGuwusy p.u,'p.o: 70 dudtdav tob Grolov H OxG V&
awihtel 78 doay. ; (are. 400a’, 300 B
T.— Ofhopsy v dvopiEopey oivoy tdv 9,60 dpoygudy f dxd ue
vepd xal va xdumusy pwiyua 640 8x., tod dmolov 0 ond v GElCy 7,80
Bdoy. Mdoug duddas olvov xal méoag Bdarog Ba Pahwuev i 10 piyRe:
(6. 520, 120).
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‘Opdg B
1.—"Evag yovcoydog EmEe piav mhdxa Goydoou tizhou 0,770 »ai

xol @Ay tivhov 0,550 xai Exape 440 dpapimv tichov 0,690 9. Hosa
do duie EwnEev dnd wdde eidoc ;

Adoic.

Eig 10 noduo 1 dodur thg o’ mhoxdg ydver 00,0800
B e »> B » xepdiler 0,1400
» » » 0140 » » o  » ydvouv 0,080"< 0,140
S 00 » B » xepdifovy 0 ,140°3¢ 0,080
“Qors sig» (0,220 » Eropey 0,140 Jpapiov 100 o eldove
7ol 0,080 dpapiov tou B’ eldove.
Eig xedua 0,220 Spauiov 1ot @’ elvar 0,140 Spupuiov

By 440 » S ey X Pl
440 440 44
X—OMOXOQZO*MOX =140><;:

— 140 X 2 = 280 dodpia Tov a.
Eis‘xodua 0,220 doduia, 1o B elvar 0,080 dod o

» » 440 » » > » X »
440 44
X—OOSOXO,HO SOX =80 X o =

= 80 X 2 = 160 dpduia tod _B.

2.—"Eixe. lc yovooydos §%o eidn yoveod® 6 vithoc tof o eivae
0,930, To% 8¢ B’ 0,780 xal Féher vo xdpn xodpa 180 doaplwy, T0T
6moiov 6 vithog va etvan 0,840, Idon Soduia 9d Aidfn Gmo xdde
£100¢ ; : (am. 72, 108).

3.—Ildoa doduta xadrugod Goyligov xai ndoa yolnod TEEMEL. Ve
ouvtiiEy Evac yovooydog dia v xdup xodua O dpaplwy, toi Gmolov
0 tithog va eivar 0,300 : (Gm. 40—10).

‘Opdg vy'.
1.—"Avéeito olvémvevpa tdv 68° ud Ghko v 380, xai Exaue

piypa 100 oxddwv Badudy 50° Idcoac oxddag Enfioa Gmo 16 a xai
nloog Gno 1o B (g, 40, 60).

e i e
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2.—Idoag drdadug olvomveduaros 720 xol wdoas dhlou 60° moé-
e v© avapifopey Sud v nauwpey wiypo 240 dnddwmy 649
(&m. 80, 160).
3.—"Evue avénite xadapdy otvdmvevpa (100%) ué olvémvsume G0°
nol Exaps wiywe 480 &y 790, IT6oug dxcibog whios dmd #dde £ldoc ;

(Gm. 144, 336).

Qe 5,

i —'Iooac oméag ghafov vdv 38 doayudv xol méoac OV 32
dooyudv mweéasl v dvoritn eis Aadéumogog Sua vor ®aun niype 108
o%. ol dmolov ) dxd vo otouily 40,80 douyuse ud uéodoc 20 ° o

Adoec.

Eiotoxw 1o #€0d0g Tfig Ondg ToU o ol B” Bhwiou mpog 20 O
g &g

100 3py. Q 00y,

38 38 76 d
M= —— — = — =7 7. 1 0 T oo’
\\ 0 X 100 i 0 D 1,60 doy. N dnd 10T w
100  Boy. 20 dpy.
32 X
32 32 64 i i
— i 9 LT = v. B MG r‘
X 205 100 e T 6,40 dpy. 1 Oxd 00 P

“Qote #i oxd@ 100 o pg wépdoc 20 °f, crouy

{Cer 38-127,60 — 45,60
dooyuds, v0T 08 B 32 - 6,40 = 38,40 Soayude.

“Qorte sic w0 piyne 1 3%, tob o LOVEL 4,80 doy.
S s L B e diTse 2,40 »
» S SN AR SR a'.xd\imw 4,80 % 2,40 »

g hoU e B e0diEouy 2 40 S R0l
“Qote elg piypo 7,20 slvon 2,40 ox. 100 o mot 4,80 vod B
“Qote el piyua 7,20 du. Eyouey 2, 40 on. (1.
> » » 108 » » J\ i
KQN., 5. EQNITANTA, Hoofitiuara 2T’ Anucte., 28, A", 5



108 108 : 108 12
X = 2,40 3 — = = =2 =
X 40 X — 240 5 —or LK 24 X
= 3 X 12 = 36 dxddec 0¥ . :

Eig uiyue 7,20 ox, Eyousv 4,80 an. B,
» » 1Bk s » X » »

: 108 A 1080 VDR

— 6 12 — T2 dnddeg wou B

Znpeiwoic.—Avvdpeda va un elomuey tag Titg tHv dUo £1d@mvV
petd xépdovg 209, dhla va Swimovowpey abtig dvev abtol, Eav
GooIpéGmpEy Kol Gmd TV Tudly Thig OxGg tou mivuatog 40,80 Sox. To
#egdog 20°/g, fitol 6,80 doy., Gte péver 34 Spuyude.

2.—Iléoug 6rddog olvou tiv 10 Spaxudv xal xdcus’ Gdurog
mognel v avapEousy dia vo rdpuopey uiyua 115 dxddwv tol 6molou
%G va morftal ui #fpdog 15 Yy 9,50 doayuds;  (dm. 95, 20).

3.—Ildoug oOndduc daledgov tdv 8,40 doy. xol wdoag vawv 7,20
doy., moémer va avauilopev 8ua va xduopey piywo 300 dx., tol
6moloy 1 dxd va orowyily 9,60 dpayuds pera xéodovg 259, ;

(6. 100, 200).

I'. TIPOBAHMATA MEZ0Y OPOY

1.—"Hydoaca tpie £ldn Bhalov 1ot o' vy ondv meog40 doy. 1ol BT
mpog 38 doy..#ol tol ¥y mpog 36 Soy. Ildcov upl crowxiler fi oxd
ROTG WECOV GO0V ; (am. 38).
2.—“Evoc oixoyeverdoyng BEbdevoe thy Kuoaxiy Soyayudag 150,
; S AR S e 1 » &
v Asvtépav 86,50 Spoyuds, v Tolfmnv 110-4— doayudg, wnv Te-
' 4

tdoeny 95,75 Bpayude, v Iépmemy 75? dpayudg, v Iopa-

GREUNV IQOW doaypdg ol 10 ZdfParov 68 dpayude. [ldoov &Eddeve

TNV NUEQaY %oTd HEGOV GOV : (6. 101).
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3.—Ei; uodnuig Ernfioe Baduovs unotov sic va Bonoxsuting 8,
sig va “EMnviza 8, elc 1o podnuanixd 9, eic v ‘EAnvixiiv “Iovo-
ofav 6, &l thy @uowdv totoolay 7, sle TV QUGLKTV TELQUUATLYNY Kl
wnuetov b, el whv yeoyeuptav T, el v xohyoapiov 10, eic thy
Uvoyeaglav 10, &l viiy dOumy 7, el v yupvaosmy 6, eig viy yei-

goveyviav 6. [lolog elvan 6 yevinde tou Badudc : (. 7157))
r 2
4.— Erdinosy eig xmmvorodpog : ¥
‘a’) B0 modfava dvel 20.000 Souyudv.
B 20 » o OO
)0 > » 15000 »
éoov exdinoe navd wécov Goov 10 wadéva : (cr. 280).
O, —Krvfue v Epérog Epeoey eioddnme 3780 douywds, mépvol
2810 doayuds, meonbovot 3400 dpayude. ITatog efvaw 6 péoog pog
ol eloodnpatos 10U xvhnotog xatd T 3 g (&m. 3350).
6:—Eis 10 oroleidy wog Epolimooy xatd T0 Tapdv 6ol ixov £10g
padnrat 250, xetd to mapehdov 240 xute 1o moomepeddoy 230. I14-
o0l Epoltnoay xatd uécov Goov xatd to tola tehevaion oyohla & ;
(. '240).
1.— Boydme glafe ufov fiutoay 75 doayuds, thv dAnv 80 xal
wy @iy 70. M molov fusoopiodiov eloydodn xal tdg toeic fuboag
HOTQ Wéoov Gpov ; (oim. Bk
8. — Evug oudnoddoonog Fupste: whv Any Woav 30 yhidp. v
Bav doav 36 qididu., vy Ty doav 40 Ao, xal v Anv 42 yhid-
ueroa. Wofa fito i saydme tov xavd uéoov ooov ; (fivor mdoov ETOEYE
v @oav xatd pésov Boov ;) (Gaw. 87 yid.).
9. —X¥es elg vag 7w w. | Ysouongosia fro 100° gl o 10 7, p.
13% eig tag 12 tfig meonuBolag 15 g v dop. w129 xal elg vag
7 w. pe 10%, Tola fito 1 wéon Seguoxoacio yée (e, 120
10.—"Evag &ddevoey &nl plav E8Soudda e gEllg mood @ whv Ku-
oy 450 doayuds, v Asurépa 2875,50 dooyude, wyv Tolmmy
568,75 Bdpoyuds, v Terdowny 28960 doayuds, wiv Iléumtnv 357
 Soayuds, Ty IMoguoxeuny 598,80 Spoyuds xal t ZdapBarov 630,10
doaxuds. Tldco EEddevs Ty fuéoov xard wécov Hoov (am. 824,25).
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A, TIPOBAHMATA TEQMETPIKA
ITPOBAHMATA EKYAINAPOY
Quag o (Znreiron 1 meoréosia) (%),
1.—H duric &voggrixhov elvar 5 pérpo, ITolw elvou % meotqpé-
gelo 0ol ; (“Eregov pe dnzive 7.5 ). (am. 31,4 u.).

2.—H éuric winhov evar 0,2 u. Iote 1 mepéoEld tov ;
(Gm. 1,256 .}
—."H Oduduerpog pids rnuxhindls vponélng sivar 2,40 pétoo : o)
Iota eivar § mepipéoeid e : B) Iboa drope Stvavrar v xadiaovy
weplE abrlg, dv Exaotov drouov rovatuhapBdyy 0,628 pétoov ;
(dm. 7,536 p., 12).
4.—ITola 1 megipéoei évog Ghwviod, toD 6moiov 1 Oiduetoos
glvan 12 pérow ; (Gm. 37,68 u.).
5.—"H duduetpog wuzhuxdiz voaméine elvar 1,98 w. xal xdinvrot
:n:sgl; aumg 11 droua. ITdcov pépog wijg mepipeosiog Gvakoyel eic
Endotoy ; S ilam, 0,562 1)
6.—Ddpw Gmo wid wuxhinn Todzelo yweolv v xadfsovy 8
avopw. “H dutic e elvor 0,8 u. Idcov usgog Thlc meotpepeias xato-
hopBdver to nudéva dropov ; (am. 0,628).
71— 01 088eg évdg adroxtvitov &ovv dxsivo 0,40 u, xal &xdotn
€€ atrdy txope 20.000 crwpopéc. [Idcu pérpo diétpetey ;
- (Gz. 50.240).
8.—O01 rpoyol adtonivitou Exovv axtive 0,8 1ol péroov. Iéoe
oroopes 9o udpovy dix va Siateély 10 adronivirov 50240 wétoa ;
] (am. 10.000 crpopéc).

r

(*) ZHM.—Mevootpey tic weoipeosiue Siupdomy »ukiviomy wol g Suas
BETEOVS wDTGV. ALGLOOTUEY %OTOTLY E20.0TNY TEOLPEQELLY Ou The dlupétoou
ws. Houpotnootuey toTe G1r advrote 2lpicxoey o adtd mnhixov 3,14.

Odey pe Swnpetéov wiy meoupépeiay xai  Stowpétny Tty Sidjietooy &40
nev mnhixoy wovrote 8,14, "ALLG dg  Owupetoc 1) mEoupEpste eivol AwoRevoY
70U dlarpétov. énl To mnhizov 3,14,

“Ofev duax va eUOWIEY TV TEOUPEQELY Evog xUxlou peTpolpey ThHy Oud-
ueTEoy, TOU elyot eUzokov zoi O Wiizos tne mollomhucidtopey st 3,14,
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9. —"Eve tounclopdvdulo xukind Zyet dwduereo 1,5 p. oo
ugepo ravréhhag yoetdlovral yia Fhov tdv yigov tou ; (am. 4.71).

Oupae By (*) Znreizoe JLdUETDOS %ol T dutic).

L—"H xeowpéoeia niniov elvar 4.289 péroe. Tlola elvau i Sud-
uerpde touv; (G G
2.—H nepipéosia xixhév elvan 22,608 u. Tlole clvar 1] axclic Tou ;
(ar. 3,6 w.).
3.—"H anzpipéosia t0l xoouod § davipou Eivar 7,536 uéroa.
[lofa elvol § Suduerode tov : Tlota M auele Tov; (am. 2,4 4. 1,2 w).
4.—OF Bumodotior Tooyol widle dudEns pe 1000 oroomic Suated-
kv 8,768 uérga. Moin elver f Gxole T : {ar. 0,6 ).
5.—H neoipépeia tiig §d0ug £v0c ndopou slvar 4,082 p. Moo
tvar i dxtic tfic 66dac: {dm. 0,65 w).
6. — Buaotog reenuBowds thig yiis Exer meolpéesioy 40.000.000

w. Héowy nérpov elvor i durle tov : (Gm. 6,369. 426,75 n.).

-
5
MT

\
vo
a

&

‘Ouag y'. (Znrsitan 10 téov xixhov).

1.—"H Gaurig &vos wimdov elvar 5 uéroa. Iécov uétowv stvar t6-
S 2 UETQ

Sov adrol 720 (am. 6,28 w.)
Adoec.
H neppéoeia elvan: (53X ¢3,14=—10%3,14—31,4 u.
SAMG 1 mepupdoeia=360° : Gitev 360° elvar 31,4 péroa.

TR e R
s 72 8 il 31,4 2
.X:gl —‘— =3 == = = = ;:,,28 -
A 360 sl d 0 31,4 ¢ 5 5 (6} UETQO!

2.—T0 yeoyoagpwov whdroc tov “Adnvev sivar 579 xoi 577
ITdoa pwérpa Grégouy atvar Grd tov Tonueowdy ; {6 usomuPorvog L0.
“000.000 péroa). {Gr. 4216.666 w.).

Opag 8" (Zntelrar 10 2ufaddv xixhou).

1. —ITotov eivar t0 2ufudov &vde wixhou, tol Srofov i meowwé-

() ZHM. “Aqol 7 mepoupéeeva sivar yevbpevov tiic Siouéteou émi o
3,14 81dr vi eipwpey Ty duduetooy, Gray yvooileuey v meoipégelay, Sl
0oTuey Tovmy Oudg 3,14,
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/

pewe eivor 314 pétpw, 1 88 dntic tov 5O pérpo;  (dm. 7850 v.p.).
9.—“H Sudpnsrpos utxhouv elvor 3,50 pérpo. IMolov elvor 10 Ep-
Buddv tov ; (Gr. 9,61625 ©.u.).

3. —IToiov 1o EuBadov wixkov, tol Ozolov 1 dxrig Eivar 1,50 4. &
(Gm. . 065 7. p-)-
4. —H neorwépeier xUxhov elvar 128,112 péroe. Iloiov eivor o
Eupaddv tov; s (am, 1306, 7424 v.p.).
5.—Ado winhor Sudrevroor Egovy Gurivag, 6 piv 7,5 pevou, 6 08

= ’ e = NS A ~ e ’ -
5 ufvoa. ITotov eival to 2uBadov tiic wetafV tdv o meQLPeoELDV
gmipavelog ; (. 98, 125 T.10.)-

‘Opcg g’ (Znteltar 0 Eufoddv toufog xixhov).

1.—H Guric voe xtxdov elvor 0.15 pérpouv. Ilolov 10 Eufadow
topéms oiitol, Gotig Exel tokov 60°; (G VU011 1705 vty

9. — T Budperpog Evos xixhov eivor 6 pérpo. Ilotov elvar to Eu-
Baddv nuxhinol vopéwe avrod #govros tétov 1507 (G, 11.775 ©.p.)

*Opag ot’. (Znreitan vo Eufodov iz #upths Entgpavelog wuhivépou).

1.—T9 fpoe Evoe xuhivdpnod doyelov eivar 0,30 uérpov, 7 85
meoupéosia T Pdosidg tov 0,157 pévpov. [Mole elvar § #worh 0w
. ETLQAVELD ; y (Gm. 0,0471 z.p.).
9.—To tpog Evog xulivBoov elvar 1,20 pévoo, 1 0& dudueroog
fic Bdoede tov 0,10 pérpov. ITola 1§ wvpw) tou Emi@dvela
(Gm. 37,68 t.u.).

3.—-To thpog fvog xukivBpoou eivar 10 pérpu, 1) 88 dxric tov 1
péroov. IToia elvar f xupty To0V EML@dveld ; (Gm. 62,8 v.u.).

4 —Mie xvhivdoud otiidn Zer Hpoc wév 6 pérow, dudustpov OF
e Bdoetg tov 0,65 uérpou. Ty wupthv Emipdvelay Tavng mOOKELTOL
ve wahdwwouey 8 dpdopatog mhovous 1,20 pérew. IIdoa péroe EE
ad10l npémel v GYOpdCmUEY ; (Gm. 10,205 w.).

5. —Mia ovidn wukwdowxd) Fyer thpog pév 7 péroa, dnriva Oz Bd-
cete e 0,80 pérpov. Thv xuvprhv Emigdvelay todine moOxELTOL VG
yoopoticopey. Idcov Od orovglon 6 yomuoriopog ovtog, &av 6 LOW—
ROTLG U0 EXGOTOU TeETpOy@ViX0D nétgou ovoiyiln 7,50 dpayuds ;

(Gm. 263,76 Soay.).

it
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‘Opag &' (Znretvon ©o 2pBadov iy Bdoedy tou).
L.—H meowpéoeia tiic Bdoews fvos nuhivSoou sivar 1,57 pétoa :
a) Ilotov elvar 10 Enfaddv tiig Bdoede Tou; (am. 0.19625 T.w.).
B) Molov to Eufuddv t@v Svo Bdoedy tou : (am. 0,3925 t.u).
2,—I dxvig viig Bdoems Evag xuhivdo o Soystov elvar 0,15 s
a) Iolov 10 2ufudov tiic wide Bdoede tou : (Gr. 0,07065 7.p.)e
B) Iotlov to EuBadov tav 8vo Pdosdv tov (. 0,1413 v.p.).
3.—H duduetoog tfic Bdosmg &vds xihivdpixod xtiolov (Tipyov)
evar 5 petgo : @) Iofa f Enipdvew ot Eddpove 2mi tod Grofov sival
HTLGUEVOV ; s ‘ (am. 19,625 1.u.).
‘Opag . (Zyreiton 10 2uPadov xukivdpov),
1.—To6 ¥pos &voe xwhivdoov elvar 1,60 pérou, 1 88 anric g
Bdoecds tov 0,30 pérgov. Ioiov sivat wd 2pPaddy ou: 3
(ax. 8,796 v. w.)
2.—1Td thpos piiis xuhwdpudic omihng elvor 4 pérou, 7 B2 dude-
1005 tijc fdoews tov 0,74 w. IToiov sivar o 2ufaddv e
{(Gm. 10,1541 7.p.).
3.—H meowpéoeia tiig Bdorwns Evdg wukivdgou eivar 2,198 uéron
1o 88 Yoz tov 6,50 netoe. Ilotov elvor 1o 2pfaddv tou
; (Gm. 15,0563 ©.u.)
4. —"H dnzlg tfis Bdcstie Svog :vculwﬁﬂwou Mfntoc éx /ulxou
stval 0, 30 uérgov, 16 8¢ Boc tou 0,80 pérpou & Aénc Erer xal wd-
Moppn &x gudlxoU. Tlécov o ovouwloy 1 xacoitéomeis Tov, &y T Hao-
CLTEQWOLS EXGOTOV TETOUYWVIKOT uetpou orowyiln 25 doayuds.
{(a=. 51,81 doy.).
‘Opdg 6. (Zntetia 6 Jyxog ol xuhivioou).
1.—"Evog wvkwvdowmods Méfne Exst dntiva wiv tijs Bdoede Tov
0,30 uérpov, tpog 3¢ 0,80 péroov. Ilofoc eivor & YDpoc ToU |
(G, 0,22608 x.w.),
2.—"H Buduerpoc tiig Bdoswe Svoc #vhwdowod Soyetov eivar 2
weérow, to d2 Mpog tov 8 wérpw. ITotog eival 6 y@pog tou :
(@ 25,12 i)
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3.— 0 nogupdc &vog dévdoou cival wuhvdpinos” tottov 1 mepLpé-
oete Exdomg Bdoewg slvar 2,198 pétpw, o 88 twog tov 4 péroo.
ITotog eivar 6 Byxog tou ; (Gm. 1,5386 x.u.).

4.—To Yipoc wids #whwdowiic otfilng Svde vaod elval 5,60 pérpa,

1 O anrig tiic Bdoedic Tov 0,50 pérga. ITotog elvar 6 dynoz abrfic
(Gr. 4,396 x.u.).

‘Opec L. (Audpopa). e

1.—To tyog évog =uhivdpou elvar 6,50 pérow, i 8% axtig Tiic
Bdoedg Tov 0,90 pécpov’
a) Mola eivou fi didueroog tiic Bdosdic Tou (Gm. 1,80 u.).
B) Moto elvaw ¥ sweoupéosia tiic Bdoeds tov; (Gm. 5.652 ).,
) IoTov sivar 1o 2uPaddv tiic uidg Pdoede tov ; (Gm. 2,5434 1. ne
8) Lolov elvar 10 EpPoddv tdv dbo Bdoedv tov ; (Gm. 5, 0868 T.4).
&) Hotoy eivar w0 Eufadov tijc ®VOTHS TV EmLpovelns ;
(. 36.738 T.L.)
ot) Iloiov sivar ©6 2uBadov tol wwhivdpov: (Gm. 41.8248 T L)
0) otos elvar 6 dyxog ol ruhivioou; (dzm. 16,5321 ».u.).
2.—Erxl wds suxhinfic Euliviis Pdoswms (C[JO'LEV'EL)., N omofo Exet
EuPaddv 3,2 1. uérpa, mobreital v xotuoxevaci #t00g nuAivdpLrdc,
dotig va ywofi 6,3 #ufund uéron. Hoiov Siog mobmer vo g1 0 nddog :
(dm. 1,96875 n.).
3. —Tpdate xGhivdoov ut diduerooy 0,20 usrgou nael pog 0,70
UETOOV 3ol eUpete :
a) Thv dntive tiic Puoeds tov. :
B) Tiv meowpéoeiav tiic Pdasds Tou.
) T(‘) Eufadov ths widc Bdosdc tov.
5) To éuBuddv tdv &lo Bdoedv tov.
0 EuPudov g xuptfic Tou Emipavelac.

Q2 2

£

ot) To éufiudov tot nuAivdpov.

£) Tov dyxov tot mukivdpov.

(Ax. @) 0,10 u., B) 0,628 ., y) 0,0314 t.u., ) 0,0628 r.u.
£) 0,4896 .., ot) 0,5024 ©.u., C) 0,02198 x.u.).

) T
=

e
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B’. FIPOBAHMATA KQNOY

;
GOEGNS

=R

‘Opag &b (Znteitar §i wvoth Emipdveia adtod § Tiig
N 1 6k} tov : :
1.—Ilota elven i wvpth Emigdveia ndvov, dotig Exet Bdow us
neQu@egstay 12,56 pérowv ol mhevedav 1D pérpwv; (dm. 94,20 v.u.).
2.—TITole sivor fi ®uoTh EmiQEvELD EvOC HOVOL, DOTIC EXEL GHTIVA
tiic Bdoene rou 0,08 pétpou xel mhsvodv 0,15 wétpou ;
(Gm. 0,03768 z.p.)

3.—"H diduetgos the Pdoswg €voc nwvanol Soyelov sivon 0,25
wétpou, 1 08 mhevpd tov 0,40 péroov. Ilotw =ivar 7 wuoth vou &me-
DAveLd ; ; . (. 0.157 7.u.)

4, —TIbon tevouymvind wétow xapofomdvoy rostalovrar did v
yivy uio oxnmvi), f omola Fysi msolpEosiav Thg Pacedc e 10,60 w.
mAevpay OF Tijg muotiic ws Emipaveiog 8,80 wétpwv; (Gx. 19,95 ©.u).

5. —"H meoupéoeia tils xvptiis mipavelos wids noviniis cunvic
eivor 12 pétow, 1 9¢ mheved tng 3,80 uétod, Idow péroa wupufomd-
vou Y& yoetmomuey 8u attiy, dv to mhdtog tob xapafoxdvou sival
0.75 péroov ; (Gm. 30,4 w.).

6.—H neoipépein tiic Baosws nids rwviriic onnviie ewvar 15.70
péroa. Idony Emupdveloy tod eddpove, exemdlel ady ;

((Gm. 19.625 & 11.)-
7.—'H acoipépeia s Bdoswg Evog xodvov eivor 12,56 pérpov, 1
92 nvom) tov Emi@dvela §xsu mhevpdy 3,20 pérpwy :

a) ola eivel 1 xvet) tov Emgdvera ; . {20,096).
B) Holu givar f xunhit| tov Emipdveta ; (12,56)
v) ITola sivor fi SAua| Tov Emipdvels ; (32,656)

8.—[lolov 10 €ufadov Tilg Ghixfic Emipavelag Evog xdvov, GoTig
Eyev whevoav uev 3 uétowv, axtive 02 tfig Bdosme tov 0,40 pérpov ;
; (Gm. 4,2704 t.p.).
9. —Of® Vi HOTUCHEVROW LG XDVIRY OXNVY) UuE mhevogv 4 pé-
‘Towv xal megupégslav Thg Bdoewg 10,50 pétowv Gmd nupufdmavo whd-
zous 0,8 pévpov. [Idoa pévoa moéner v° dyopdow 2 abrol ;
; (- 2625 s



‘Opég B (Znreital 6 dyroc xdvov).

1.—To 2ufudov tiic Bdorws &voe xdvov eiver 31.80 t.u., 10 68

twog tov 5 w. IMolog sivar 6 dynog Tov; (Gm. B3 n.u.).
2.—Ilotoc elvar 6 dyzoc xdvov, Gotie el faboe péy 0,60 pérgey

antivo 08 thg Bdoedg tov 0,15 p. (6. 0,01413 », w.)-
3.—TITotog eivar 6 Oyxog xwvov, Gatig #Fyee dudperpov udy 1,50

w. Upoc d¢ 6 uétpmv ; (Gm. 3,532D =.u).

4. —Mio xovea ounvl) Eggr Tpog 2.40 pérpu, 1 mepLpéosio 9

©7ic Bdoetdc g eivar 9,42 uérgov. Iléoa xufuxd uétoa GE00g LOOEL ;
(G 5,652 ». w.).

5.— ‘M neoipépsia tiig Bdoswe Evoc xdvov eivor 1,57 w. w0 68

tog tov 0,8 p. IMolog etvar 6 Jyxog tov : (Gm. 0,0523 ®U).
Oupac y'. (Znteivaw © Eufadov #dl 6 dyrog xdhvou).

1.°H dmtig tiic Bdorws €vdg navoun eivar 0,16 pérgov, f 88 mhew-
od zov 0,30 pérgov xai 10 Tipog tou 0,25 péroov :

a) TloTov vo BuBuddv tiic Bdoedg Tou ;

B) olov 0 Bufaddv tfic »upthc tou 2mipavelug ;

y) Moiov 0 3uBuddy w01 xdvov :

8) Ilotog & dyxog avrod ;

(Gmdv. o 0,080884 w. ., B’ 0,15072 1. u., y 0231104 5 -,
8" 0,006698 x. u.). :

2.—Dedyare »dvov ut tog xal dutiva iz Pdoedc tov Toa xab
EUQETE.

Thy dxtiva tiic Pdoedic 1ou (netpofviee adriy).
To Twog w0l #dvou (uetgoivies adrd).
Thv didperpoy tiic fdoedg Tou.
Thy alevodv iz nvotiig tov Bmipaveiag (petpotiveec adTnv).
To éuBuddv tov.
Tov dyxov ton.
3 —T'odote x@vov pe Sidpuetoov Tiic Bdoeds tov 0,05 pérpow
nal Bpog 0,08 pérpou xal edipere ; i
a) Thyv mhevoav tiis nvorfic tou Emipaveioe (uerpodvree avTiv)-
B) Thv meowpéoeiav tis Bdoede tov.
y) To EuBuddv tov.
8y Tov dyxo tev.
(drm. o’ 0,082 ., B’ 0,157 p., y’ 0,00899 1. ., & 0,000052 ».p.)-
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I". IPOBAHMATA KOAQYPOY KQNOY

‘Opag o, (Zntsizar o Eupadov). '

1.—TT Guvic tiig neyahvrépac Pdoeweg £vos xohovpov ®dvou eivae.
0,8 uérpov, tijg 0t pwporégag 0,2 pérpov: o inpog tov slvau 1,20 pé-
Toa, %ol 1 mhevod tou 1,34 pérpo. Nd eboedf :

o) To énBadov the peyahvtépog fdoemg Tov.

B)Y » > »  LXOOTEQUG » »
v) » » $  ®UDTYS TOU ERMLPOVELQC.
) » » » Ghowdijoov 1ol %dvou.

(am. o' 2,0096, B° 0,1256, v’ 4,2076, 8’ 6,3428).

9.— I Sudtpetpoe thz mevoaruvréoog Bdosme €vog nohodpou xmvou
givar 0,8 uérpov, whg 68 pungorégac 0,2 pérpov. To Tipog tol xoholgov
xwvov giver 1,20 péroa f 08 mhevod vou 1,27 wéroo ; Na sigedp 10
euBadov tov. b i S (G 2 B2 T e

3.—Af dutiveg v fdoemv svog xohodpow xdvou eivar 0,6 pévoov
wol 0,4 pévpov, tortyog 0,8 pérgou nal 1 whevod tov 0,827 pérpov.
IToia 1 émg:ci\'tlri TOU ; i (G, 4,2295 . .).

4, —Kavoorevdoote ®0Aoupov x®vov &x anhol ol £U0ETE TO Eu-
Baddv Tov. : b

Elpsoig Tol 6yKou KoAoUpOU K@VOU.

“0,7u ®duvopey did v efipsowy 1ol Byxov molotipou mupapidoc
1O I810v xduvopey xol due Thy etoeswy ToT Jyxov xolodgov xdvou.
Kot adtov tov tpémov eUpicrouEy ®etmTéom tov dy#ovetol xokotgov
ROVOV. :

Kal o) KadoolCousv v nopuenv 1ol woméviog xcdvov (0), Eme-
nieivoviec 2 — 3 mheuode e nuoths Tov Emitgeveluc. Aln eivon xat
®noEUQY] TOV mhgovg xOVOU, Tov GmoteAelTal GO TOV X0AovEOV HDVOV
%l @m0 TOY HOMEVTLL

B) "Ex totine péoousy meodiinhov moodg tog dlo Bdosic tod %o
Londpov xodvou thy OIT.

y) “Ex tiic mapallihov soding @épousy xodérovg modg tic Pdoeie
70U xolovigov wdvou iy BA xal vB.



0) Merpoiiney wog é‘ndotcﬁcslg @ 8o mhipov uovey xal ebpi=
GHOUEY TOUS Oynoue odTmyv, Kol

&) "Aguigolpey 1ov. dyxov tod uixpod mhijpoug wdvov (tofl xou=
usvou) am' Tov Oyxov Tob ueydiov mhnpovg xdvov. T HméAowmov &Tvar
0 Oynoz tol xoholipou xdvou )

"Eotw % dutig AK = 4 ., #ol N Gwtle Aw = 2 w., 1o tyog-
‘Bu = 16 'w., nai w0 fpos AE = 8 u :

Téte ©i neoipboeia e fdoewe K tha etva

(4 X 2) X 8,14 — 8 3 3,14 — 95,19 W., 10 08 euBaﬁov g

95 19
_D_lz)i‘l_ s 103 45, 50,24 1. .

"0 8yxog vobpeydhov mhipove xdvou ABO ta elvor :

50,24 X 16 803,84

3 S 3 — 269 : ; &
“H nzpipéosio tiic Bdoewe x slva : (2X2) X314=4%3 14 —
=15 560 ot b EuBatv T A '12,56,1;.,.1.

2
‘0 dyxos o xopudvoy hpovg ndvou elval

12,56 100,48
2 3X8: 024 SiEsng o

"Emouévag 6 dyxog 10T xohovoov xdvou 34 eiva :

267,94 — 33,49 — 234 45 x. 1.

(*) Zyueiwows @ Il elioeoic to0 GY#OU #0000y ZMyoyu duvoTan v §iSu-
7T zevovonTie wivov Exdyve gt ooluTY, TOH EZouY a,mu,a #z0kotpov %dvou
XOTU TOV GVOTE0W TOOTOY.
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A°. TIPOBAHMATA S0OAIPAZ

1.—H éutig widc cpaipac cvar 0,6 pérpov.

a) Tlofa eivay 7 al(il_;lEtE](}; avIng ; ;
B) IMola sival § mepi@épsia Svdg ueyiorov nixkov attiic ;

y) Ilotov 10 énPadov Evoc peyiotov YU#?»(JL‘ avTig ;

d) Iolov t0 Epfadiv Thc caipue

t) Ilotoc 6 Oyxog tfic ogaligos ; 5
G P R E ST S e S S AR e 50
£ 0,90432 x. p.).

2.—H Sudusvoos widc opalooc sivar 0,8 wétoo,

(op]
=
=

a) olo § éxtic adrig ;

B) Ioio 1 weoupéoeie Evig ueyicrou ®wixkov g ;

v) Ioiov to éufadov &vog peyiotov xvxhou wc:

d) Ilolov 0 2upddow e qutloccg :

) [oloc 6 Gyroc e cpaipog ;

(Ax o O, BT2812 e v 0.5024 ., D)12,0096 . 4.,
£) 0,26794 x. p.).

3.—H negpéoeia Evdg tomiov elvar 0,628 pétoov.

o) Ioto elvar 7 didperode tov ;

B) Iofe eivay § durlc tou:

v) Ilotov eivar w0 2uBadov vog weyiotou xixlov aivtod ;

d) IMotov 10 gufuddv tou ;

g) Ioiog 6 dynog 33

(AT () 2 R B ORI iy 0031 i, o D26
g 0,00418 x. w.).

4-~Hom. 1 Empdveia ogalpag, mg omoloe 1 cmmf gtvar 1,20

uétoa ; (. 18,0864 = 1.).
—b.—Iola | énipdveio opoipac, tiic 6motag fdwduetoos etvor 1,40

pévoa ; (Gm. 6,1544 ©..0.).
6.—Ilota 1) Exipdveia ogaioue, Tz 6molug 7 seoipépsia Elvan

0,942 utzoov ; (am. 0,2826 7. u.).
© 1.—Tloios 6 8yrog cgaipas, viic Gmoloug f dutle &vog ueylowou

ximAov eivon 0,15 pérpa ; (Gm. 0,01413 ». w.).
8.—Ilolog 6 Oyrog ocgolpag, ThHe Omolug 1) OudueTpog £vdg weyi-



9100 mixhov g eiven 0,5 pérpw (am. 0,0654 ». w.).
9.—Iotog 6 8yxos opalpue, iz Grofac f TEQUPEDELL. EvOC - uey(-
oTou wixhov tng elvar 1,256 péroa (@m. 0,08349 %. u.).

10.—"H éxrig mids opaloag, 1o hpog fvig ®uAivdoou wal f arvig
:

tijg fdoswg adrol elvaw 0,2 pétoov. Iosdnig T sri@dvela toll Evog
oregeoll elyar ueyolurépo tic Emipavelac tod dhlov ¢ 3
: (Grm. Toau).
11.—H meowpéoeia puds weralhixic cpuipoc elvar 0,2512 LéTpou.,
“H gmpdvela ig opaioug subrng modxeitar v wovowdy, Ildcov &
srowyioy 1 yolswaig, &y 1§ xovomoic Exdortov TETQOY. WETpOU orouyily
4505 dooyuds ; (G 90,563).
12.—T0 2upodov vilg empavelag widg cpuiooe elvar 4,216 tevp.
uetga. IloTov elval v 8uPuddv &voe ueviotov wixlov T
(dm. 1,1304 . w.).
13,—‘Evdg tomiod efipere : o 10 2uBaddv tow, [ tov Gyxov Tou.
l—i.—KuraaHEUdactqa and wnhov plav ceoigay xui elipers :
o) Thv Scdueredy Tne. p
p) Ty dnrivd e,
v) Thv meoipéoeiay Evde weyiorou Thc #ixhou
) To EuPudody » > » » »
g) To EuBuddv 1z,
o) Tov Eynov e,

R A
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